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. (a) “Law of contracts is neither the law .of aj
agreememts nor the law of al] obligations»
Comment. ' (5)

(b) Discuss the circumstances when an offer lapses.

_ (5) -

." (c) A’s son caught in fire and he announced 5 reward
- of Rs. 50000 to anyone who saves his son. B .
saved the child. Can he claim the money? Wil|

your answer be same if B comes to know about

the offer of reward after saving the child? (5)

(OR)

Y

(a) “Stranger to consideration can sue but a stranger |
to contract can't”. Gomment. (5)

(b) Differentiate between Coercion and Undue
. influence. (5)

'_ (¢) A gives his house on rent at Rs. 25000 per month
to B. who will use it for residential purpose and
also for storing prohibited drugs. Can he recover

the rent of the house. - (5)
1 2. (a) “Position of finder of lost goods is like that of a
bailee”. Comment, (5)

r (b) Differentiate between Indemnity and Guarantee.
' (5)
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( )'D ch55 ‘the circumstances when a contract is
C 1
" discharged due 10 supervening lmposblbllnv (5)

(OR)

(a) “Umlaterwl Mtslake does not affect a contract”

comment | (5)

-".‘(b)‘Disc'uss.the-circumslances when an agency

A ‘becomes irrevocable. . (5)

'(c')szDisc':uss-'Bailée's-’ right of lien and differentiate

‘petween Particular and General Lien. (5)

(q) “In a conlract of sale there is no implicd condition

~as to quality 'lnd fitness of goods for buyer’s
' purpose ! Comment. ] | (F)

(b) Dlscuss the rulcs for transfer of owm.rslnp in o
conlract of sale. (3)

(C) A purchased aqnew TV set in exchungt. for an old
TV and Rs. 20000 Can it be called a contract of

sdle? . ¥ - (5)
(OR) . e

(ﬂ) “R'ght Of stOppage in transit is an extensmn of

' ‘right ofhen Comment. | (3)

_"['.(b) ‘Discu’ss the rule- of Caveat Emptor. | (3)
' : P.T.O.
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4 .y
(C_) _A agreed to sell 100 bags of wﬁegii_fto' B @-700' '
per bag. On the date of delivery & delivered 120 .

bags of wheat instead of 100, What. rights are
available with B. E e M K (5)
4. (a) Who can be a Designated Pﬂ"f'in"""-in am LLF--
Discuss the rules relating to designated. partners
as per LLP Act. What role does he play?” )
(b) “Limited Liability Partnership contains (he
advantages of both traditional partner _
company form of business organization »
Comment. e o (6)

J (OR)

(a) Discuss the procedure for conversion of a Private.
Company in to LLP. What will be the consequences .
¢ (%)

of such conversion? .

(b) Discuss how a Limited Liability Pa‘r_t'nf_:rsh'ip can
change it's registered office within the same state;

‘and from one state (0 another state.. 6y .

(a) Define Originator, Addressee and-lht'e_fmedi-ary as

per IT Act. | . r ':.:(5_) o

5

(b) Discuss the rules 'relati_ng to SLi.spéAnsion; an‘('i-, :
revocation of Digital Signature Certiﬁc‘:aie,' (5).

(c) \_vho will be called a Subscriber anci what are e

du!ies?. ‘ : -_ . ® | (5) |

ship ‘and .
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(OR)

(a) Discuss how ‘a digital signature is created and
(5)

verified.

(b) What are the duties of Certifying authorities?
: - (5)

(c) Discuss the rules relating to time and place of
_dispatch and receipt of electronic records. ()
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Part-A : Business Mathematics

(a) Three firms X, Y and Z supplied 80, 70 and 50
- truckloads of stones and 20, 10, and 16 truckloads
of sand respectively to a contractor. If the cost of
sand and stone are Rs. 2000 and Rs. 4800 per
truckload respectively, find the total amount paid

by the contractor to each of these firms using

matrix algebra. (3)

(b) A firm produces three products X, ¥ and Z which

it sells in two markets. Annual sales in units are

given as follows :
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Market Units Sold
X Y | Z
[ (32000 | 16000 | 80991
T | 28000 | 12000 | 36000

re RS. 10:
osts PeT

find

If the prices per unit of X, Yy and £ 1

Rs. 8 and Rs. 16 respectively and the ©

_unit are Rs. 6, Rs. 4 and Rs. 8 respectlvelys

: matrix
the total profit in each market bY using y
algebra. (
Or

ks T,
v, .

" A transport company uses thfee types of truc
T, and T, to transport three types of vehicles Vl’_

and V,. The capacity of each truck in terms of three

types of vehicles is given below :

Vi| V2 | V3
T.| 2] 6 | 4
T.| 4] 4|6
T 6| 4 |4

P.T:0,
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h

Using matrix inversion method, find the number of

trucks of each type required to transport 170, 210 and

220 vehicles of 'V, V, and V, types regpectively.
(7)

[ g )

(a) A garment manufacturer is planning production of
new variety of shirts, It involves initially a fixed
cost of Rs. 600000 and a variable cost of Rs. 600
for producing each shirt. If each shirt can be sold
at Rs. 1400, then find |

(i) The total cost function;

(ii) The average cost function;

(iii) The total revenue function;

(iv) The marginal revenue function; and

(v) The profit function. (5)

(b) The total cost of producing X units of a certain

product is described by the function C(x) =
30x2+ 1500000x + 9720 where C(x) is the total

cost stated in rupees. How many units of x should

be produced in order to minimize the average cost?

)
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Or
. 2p2.... IZP,
(a) Given the demand function x = 1500~
. = 20.
find the price clasticity of demand at p 5)
tion C(x)

(b) For a company the total cost fun¢
iven by
and the total revenue function R(x) ar¢ &

= 66x -
C(x) = 2x3—24x2+ 96x + 22 and R(¥) 1
e output for

(5)

8x2—42 where x is output. Find th

which profit is maximum.

- 4 (a) A saving account opened 3 months ago, now has
a balance of Rs. 2040. If the bank pays 4% simple

interest, find how much money was deposited?

(3)

(b) A machine costing Rs. 800000 depreciates to a
scrap value of Rs. 200000 in 8 years. Find the
rate of yearly depreciation given that the

depreciation is calculated using diminishing balance

method. (5)

e inte ]
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Or

(a) A man wants to invest Rs. 25000 for 5 years. He
may invest the amount al 10% per annum
compound interest accruing at the end of each
quarter or he may invest it at 10.5% per annum
compound interest accruing at the end of each

year. Which investment will give him better result?

(4)

(b) In return of a promise to pay Rs. 300000 at the
end of 10 years, a person agrees to pay Rs. 60000
now, Rs. 125000 at the end of 7 years and a final
paYment at the end of 12 years. If the rate of
interest is 6% per annum effective, what should

the final payment be? 4)

Part-B: Business Statistics

4, (a) Why is standard deviation considered to be the

most reliable measure of dispersion? (3)
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;1at10mn
(b) For a series the value of mean deviall

Find the most likely value of 11s quart!i® ite

ark
(c) The median and mode of the following @
known to be 33.5 and 34 respectively- .
their
three frequencies are missing. Determlﬂe

values.

—

tal
Marks  10-10 1 10-20 ] 26-30 | 3040 | 40-50 | 50-60 60-70 Tzzo
No.ofSmdemts| 4 i 16 | 2 ? 2 6 4

9)

Or

(a) “Median is not affected by extreme values”.

Comment. (3)

(b) A cyclist pedals from his house to his college at
a speed of 10 km per hour and back from the
coilege to his house at 15 km per hour. Find the
average speed. (3)

(c) Particulars regarding the monthly income of the

employees working in two cities are given below:

P.T.O.
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City X | City Y]
Number of employees 600 500
Average monthly income (Rs.) 17,500 | 18,600

Standard deviation of monthly income (Rs.) | 1,000 810

(i) In which City is the variation in monthly

income greater?

(i) What is the combined standard deviation
of monthly income of the City X and City
Y put together? )

(a) Distinguish between correlation and regression.

(5)

(b) Find the coefficient of corrclation between the

age and the sum assurcd from the following table :

Age group (Years) Sum assured (Rs.)
10,000 | 20000 | 30000 | 40000 50000
20-30 4 6 3 7 1
30-40 2 8 15 7 1
40-50 3 9 12 6 2
50-60 8 4 P - "

(1
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- Or
A . : n
: relatlo
(a) Define Karl Pearson’s coefficient of GO 3)
and give its limits.
ces Of

, , -
(b) If the sum of squares of the rank differe
' e]ation
9 pairs of values is 80, find the corre _

3)

coefficient between them.

: .. . (ii) the
(c) Find (i) the two regression coefficients; (ii)

' - vient of
regression lines; and (iii) the coefficien

correlation for the following data :

Price (X) | 156 | 178 | 194 | 138 | 118 | 158 | 136 éﬁ
Demand (Y) | 250 | 274 | 312 | 224 | 214 | 272 | 246

)

- 6. (a) What are the uses of‘Consumer Price Index

Numbers’? 3)

(b) Calculate the Fisher’s Ideal Index from the
following data and prove that it satisfies both the

time reversal and factor reversal tests:

P.T.Q:
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i il 2020 2021
dity : e —_|
R Price (Rs.) | Expenditure (Rs.) | Price (Rs.) Expéenditure (Rs,) |
gt |8 80 10 120 |
T 120 12 %
—Tc 1 .3 40 5 30
—7Dp | 4 56 3 60
= . | 2 100 25 150
| (7)
Or |

(a) What are index numbers? Why are they called

economic barometers?

(3)

(b) The cost of living index uses the following weights:

Food 40, Rent 15, Clothing 10, Fuel 10,

Miscellaneous 15, Dufing the period 2015-20, the

cost of living index raised from 100 to 205.83.

Over the same period the percentage rise in prices

were: Rent 60, Clothing 180, Fuel 75 and

Miscellaneous 165. What is the percentage dhange

in the price of food?

(7)

7. (a) Distinguish between seasonal fluctuations and

cyclical variations in a time series.

3)
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(b) Find the centered 4 yearly moving average trend

values from the following data :

Year | Production (in ‘000 tonnes) | Year | Production (in ‘000 tonnes)

. __-________.__—
2010 - 4408 2016 5808
2011 5000 2017 2196
2012 4720 2018 6344
2013 5360 2019 5904
2014 4848 2020 6496
2015 5268 2021 6344

- (D

Or

Fit a straight line trend by the method of least squares

to the following data and find the trend values.

Year 2015 | 2016 | 2017 | 2018 | 2019 [ 2020 | 2021
Sales (in lakhs of Rs.) | 33 | 35 | 60 | 67 | 68 | 82 | 90

Assuming the same rate of change in trend values

continues, what would be the predicted sales for the

year 20237 | | (10)

P.T.O.
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1. (a) State with reason whether the following statements

are true or false:

(i) Void agreement and void contract mean

the same thing

(i) Mental assent does not amount to

acceptance

(iii) Inadequate consideration will invalidate a

contract 9)

(b) A young widow was not allowed by villagers to
remove her husband’s dead body till she adopts a
male child. The widow' adopted a boy. After
cremation of her husband she wants to set aside

this adoption. Advise her. (6)
OR

(a) State with reason whether the following statements
are true or false:
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(i) A General Offer can be accepted 001y b

one person

(i) Unilateral Mistake does not affect @
contract

(i11) Even if a minor misrepresents his age, be
(9)

can escape liability in an agreement

(b) Amar helped Balram when he was suffering from
Corona Virus. After recovering Balram wanted to
give some money to Amar but Amar refused to
take it. Balram then makes a promise to pay 5000
rupces to Amar’s son. Can Amar’s son recover

this amount? (6)

2. (a) “Agreements restricting a person from doing any
business, profession or service of his choice are

void”. Comment giving cxceptions. ()

(b) Differentiate between Indemnity and Guarangee.

(5)

(c) Write a notec on Specific performance -

lnjunclion. (5)

OR

P.T0.
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@ o ‘A gontruct does not become void just becauge Il;

pas become ditficult or unprofitable”,
aiving exceptions,

() pifferentiate between Sub Agent and Substituted

Comment
(5)

Agent. (5)

(©) write @ note on Bailee's right of Lien. (5)

(a) “In a contract of sale, buyer always has a right to
reject the contract if the goods are not fit for his
purpose”. Comment. (5)

(b) Discuss ‘the rights available with the buyer if the
goods delivered are less than or more than the
agreed quantity. (5)

(c) Ashok sells a TV set to Baljeet for 50000, The

ownership is transferred to Baljeet but the TV is
yet to be delivered to him. Ashok by mistake sclls
the same TV to another buyer named Chetan.
Can Baljeet claim back the TV from Chetan?
(5)
OR

(a) “Right of stoppage in transit is an extension of
right of lien for an unpaid seller”. Comment.

(5)
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; (b) Differentiate between Sale and Agregmcnl ‘t;’
: (5)

sell.

(c) A purchased a hot water bottle from 3 chemist.
When he was trying to use it the bottle burst a$
it could not sustain the boiling water and A got
badly injured. He filed a case for damages: Wil

" he succeed? (5)

4. (a) “A Limited Liability Partnership contains the
advantages of both traditional partnership and
company form of organization.” Comment. (5)

(b) Discuss the procedure for change in registered
office of an LLP from one state to another.

(5)

(c) What will be the consequences of conversion of a
Private Company in to a Limited Liability
Partnership? (5)

OR

(a) Differentiate between a Private company and
Limited Liability Partnership. (5)

(b) What are the eligibility requirements to become
a designated partner of a Limited Liﬂbility

Partnership?
: (5)

P.T.0,
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{0} Discuss the circumstances when a Limited Lisbility
partnership van be wound up by Tribunal (5)
(3) What i« the role of Information Technology act in

promoting e-Governance”? (5)

(b) Discuss the rules relating to suspension and
revocation of Electronic Signature Certificates.
(5)

(¢) Explain the terms :

(1) Penalty for failure to furnish information,

return or report (Sec 44)
(i) Cyber Terrorism (5)
OR

(a) Discuss the rules relating 1o acknowledgement,
Dispatch and receipt of electronic records. (5)

(b) Discuss the duties of Certifying Authorities. (5)
(c) Write a short note on .
(i) Digital Signaturc

(i) Subscriber
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- 1. (a) What is the difference between historical and estimated cost sheet? What

purpose does the estimated cost sheet serve? (3
(b) What are the pre-requisites for the installation of costing system? What
practical difficulties are faced in installation of a costing system? (10)

Or

P.T. 0.
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- (a) Explain the terms ‘Cost Unit', ‘Cost Centre’ and *Cost Object” with suitable
examples, ST (5)

() The profit as per cost accounts of a manufacturing company for the year
ended 31st March 2022 was % 1,25,000. The following details were
ascertained on comparison of cost and financial accounts.

Cost Accounts Financial
Accounts Accounts
3 4

Stock as on 01.04.2021
Raw Materials 10,000 12,500
Finished goods - 14,000 13,000
Stocks as on 31.03.2022
Raw Materials 8,500 . 9,000
Finished goods 12,500 11,000

Interest charged in cost accounts only ¥ 8,000; Write off: Preliminary expenses
T 750; Goodwill T 1,250; Dividend on shares received ¥ 2,000; Indirect
expenses charged in financial accounts ¥ 43,000 but X 39,000 recovered in

cost accounts.

Find out the financial profit by preparing a Reconciliation Statement.
| (10)

2. (a) What is the difference between Halsey plan and Rowan plan of remunerating
workers? Which one is more beneficial to the workers? (5)

.(b) Atul Co. buys in lots of 250 units which is a six month’s supply. The cost

per box is ¥ 12.50 and the ordering cost is T 25 per order. The inventory
carrying cost is estimated at 20% of unit value per annum. You are required

to ascertain :

(i) The total annual cost of existing inventory policy?
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(i) How much money would be saved by employing the economic order
qQuantity? ! (10)
Or
(1) Distinguish between ‘Bin card and Stores Ledger’, (5)

(b) From the following information, calculate the labour tyrnover rates using

separation method, replacement method and flux methog:

Number of workers at the beginning of the year 3,800

Number of workers at the end of the year 4,200

During the year, 40 workers leave, 160 workers are discharged and
600 workers are recruited. Of these, 200 workers are recruited because
of leavers and the rest are engaged in accordance with an expansion

(10)

scheme.

The following data were obtained from the books of M.N. Engineering Company
for the half year ended 30th September, 202 1. Prepare a Departmental Distribution

Summary.

Production Departments Service Departments

A B C X Y
Direct wages 4 8,000 6,000 4,000 500 500
Direct materials 4 3,000 2,500 2,000 750 500
Employees No. 400 300 300 100 100
Electricity KWH. 8,000 6,000 6,000 2,000 3,000
Light points No. 10 15 15 s 5
Assets values 3 50,000 30,000 20,000 10,000 10,000
Area occupied sq. 800 600 600 200 200 .
yds.
The overheads for six months were as under :

il 9 R

ks
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: Stores ovcrh;cjaq__:.ff-'i“ : 2,000  Dgpreciation 1,960
Motive powej-_ 750 Repairs and maintenance },5010)
Electric lighting 1,000  General overheads 5,040
Labour welfare 1,500 Rent and taxes 3,000

Apporstion the expenses of Department X in the ratio of 5: 3. 2 and that of
department Y ip proportion to direct wages, to departments A, 14 and €
respectively, (15)

Or

(a) Explain the meaning of the terms classification, allocation, apportiionment,
reapportionment and absorption of overheads with examples, (5)

(b) A machine costs 21,50,000 and is deemed (o have 4 scrap value of 10%
at the end of its effective life (10 years). Ordinarily, the machine is expected
to rim for 2,500 hours per year but it is estimated that 350 hours will be Jost
for normal repairs and maintenance and further 150 hours will be lost due
to staggering. Other details in respect of machine shop are as under

Amount (2)

Annual Wages of each of two operators 25,000
R‘cm of the shop (per year) 15,000
General Lighting of the shop (per month) 2,500
Insurance premium for one machine per annum 12,006
Cost of repairs and maintenance per machine per quarter 3,000
Shop supervisor’s monthly remuneration 2,500

Power consumption of machine per hour 15 units @ 2 1.5 per unit Allocared
factory overheads attributable to the shop per annum 40,000 There are five
identical machines in the shop. The supervisor is expected to devote pne-
fifth of time for supervising the machine. Compute a comprehensive machine-
hour rate from the above details. (10)
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A Firmy undertook a contract for construction of o large Shnppgng complex. The
construction work started on April 1, 2021 and the l‘olluwing data are availahle
for the year ended on 31 March 2022,

Particulars ?
Materials i1ssued to site 10,350,000
Architect cost 1.40,000
Direct employee cost paid 5.60.000
Materials returned from site 35.000
Tools hire charges 2,45.000
Other indirect cost 70.000
Site office costs 1,00.000
Head office expenses (allocated) 52,500
Direct expenses 1,26,200
Work certified 28.00,000
Work done but not yet certified 20.000
Progress payments received 22,40.000
Contract price 50,00.,000

The firm owns a crane with an original cost of ¥ 15 Lakh. The residual value of
this crane after five years of life is expected to be ¥ 2.50 lakhs. Straight Line
Method of depreciation is used.

As on 31.3.2022 the direct employee cost due and payable amounted to ¥ 40,000
and the cost of materials estimated to be T 90,000.

You are required to :
(a) Preparc the contract Account for the year ended on 31.3.2022.

(b) Show the relevant Balance Sheet (abstract) as on 31.3.2022. (15)

Or

21,0
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Prapunre e (hree proeeqy psconnis, abnoral gn secont abnorpal 10ss acoount
ilﬂll mnmul Iy “bmunl fronm the following information
f'ﬂl‘”ﬁﬂlﬂmf Procesy
Totul / // Y774
| 7 ? 4 z
Materiul 7,547 2,000 1,940 2,962
Direet wapes 0,000 2000 3,000 4,000

Froduction overheads 9,000

OO0 units @@ 3 per unit were introduced in process |, Production overheads
wre 10 he absorbed as 100% on direet wages in each process.

Actual Normal Value of Scrap
ouipnt loss per unit
Unlt 4
rocess | 950 5% 2
"rocens 1 #40) 10% 4
Process 11 750 15% 5
(15)

(1) Unuwmernte the factors which cause the difference in profits as shown in
finaneinl necounts and cost accounts, . (5)

(b) Mr, Shyam Lal started business with a fleet of four Taxis. Expenses incurred

by him are given below :
Particulary T Particulars Z

Cost ol ench Taxi 2,50,000  Salary of office staff p.m. 6,000

Rond Tax and Repairs Salary of garage staff p.m. 4,000

p.a, per [xi 18,000
Insurance Premivm @ 6% Driver’s salary (per Taxi)
of cost p.it, per month 4,000
3,000

Rent of garage p..

ot AR L] T Sy
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The life of taxi is 2,25,000 km. at the end of which it is estimated to be sold
at ¥ 25,000, A taxi on an average run 5,000 kms. per month of which 20%
is run cmpty, CNG consumption is 10 kin. per kg costing 7 34 per kg. Oil

and other sundry expenses amount (0 3 12.50 per 25 kms,

Compute the cffective cost of running taxi per kilometre, Also find out the

profit for the first year if the hirc charge is ¥ 10 per km, (10)

Or

A Delhi-Jaipur Transport Co. runs four buses between two towns which are
50 kms. apart. The scating capacity of cach bus is 50 passengers and actual
passengers carried are 80% of the scating capacity. All the 4 buses run on
25 days in a month and cach bus makes onc round trip per day. Calculate

passcnger-kms, (5)

Write short notes on

(1) Normal and abnormal losses i relation (o process costing

(i) Work certified and Uncertified work (10)

ofeifam st sepnfan anr die 4 am st 7 sepnfa sma fe i 3tea o)

ufih wed #7 (5)

wriret o) A cargen o feg yd - snavaererg w7 fad wmra wvie @i R

N far cramfeas migsgal wn apEn wen ugen 7 (10)
u

et ymee o) e wra gad !, Ere @' ol EeT qe e W) e
LT (5)

31 amd 2022 @) ware wd o) fay yos frn o @ A el @ SEAR
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)

"o,



556 : 8

ST dear fa<hia et
2 z

01.04.202] T i '

el A 10,000 12,500
TR A 14,000 13,000
31.03.2022 & & qz“ia,-

W 8,500 9,000
AR A | 12,500 11,000

T @& ¥ TR =W Rae 68,0009 9% @ A ® URNS = T 750; W
N,ﬁSO;WWmWHpoa;ﬁﬁﬂmﬁﬁaﬁﬁHmm % 43,000

AT wE @@ ¥ 239,000 TG fRT W
ReTafoes Redc FR @ g @ 5 it (10)

2. * (=) e B Wit 3 A B A Sl Ja Ao F R B7? sl & forg
FT- Flrw HrAHE 87 (5)
(@) a@mﬁzsowﬁﬁwﬂwaﬁaﬁ%ﬁrmwﬁ%ﬁmﬁ%mﬁ

quer & AT 1250 # 3R 3T 3 o N € 25 W K 31 THA o WA A
T i T TS AT M 20% FGAG 21 AR G T A B :

(i) e TR Herdt A et AR AT
(i) T S FARA w1 TR e e d T wen?  (10)

B
(7)o RR AN B A9 S A (s)
(@) ﬁﬂﬁfﬁﬂﬁm&%mﬁfﬁuﬁmmﬁfﬁ R var RAf = 3w w1

S TS T @ AT A '
af & TEAT A Al W FET 3,800

af & Fq F FS W G 4,200



556 9
T4 @ N, 40 st WS 3 E, 160 AR B T A WA 2 3 600 AT
Vil 2 et 81w A 200 S 9 Wil Y DY Ay B ey 2 o 2
Gﬂrmuﬁﬁmnﬁmz&mﬂhﬂmmm%l ~ (10)

3 FraRifer sy wae ghfaf w9 ge A W B T A 3 i 30 R,
2021@%%&%%%%%%%%:

r‘—_“ﬁ Production Departments Service Departmments
A B - C X ¥

Direct wages z 8,000 6,000 4,000 500 500
Direct materials 4 3,000 2,500 2,000 750 500
Employees No. 400 300 300 100 100
Electricity KWH. 8,000 6,000 6,000 2,000 3,000
Light points No. 10 15 15 5 5
IAssets values Z 50,000 30,000 20,000 10,000 10,000
Area occupied 5q. 800 600 600 200 200 |
yds.

Z: wE & fog Iufter Frear 2.

? - 4
TR AraEs - 2,000 ez - 1,500
#Hifeq areR - 750 qOAd AR WE@E - 1,500
goifagar msfen - 1,000 A AaEgd - 5,000
S T - 1,500 feparar 3 & - 3,000
favmr X & @l @1 50 3 2 @ FIE F SR v v @ et ) 9 I D s F
favely A, B 3t ¢ % o Sifsme (15)
a1
(=) Iemwoor |fta aawesd & adfiter, ke, fave, qAfdawor 3k saeiaor =) @
74 =z Fifsm (5)

(@) wa w7 @ @ 1,50,000 ¥4 @ AR A0 Sen 8 3 3@ gt st (10 a)
a‘%a‘ai‘flo%w#uqmélm«,ﬂﬁ?%maﬁ_z,suouﬁ%ﬁvﬁqaﬁ

F:L.0:
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4. Wﬁ%@@mﬂﬁﬂaﬁnﬁwﬁﬁﬁwn%mhuﬁﬁmmﬁmﬁﬂ, 2021 @ I

faraem

e E T A
ARIEHR Fl T

T AR ST & A
arEe A S awE
REGTURETIRIRIS]

R A TR
e o e S DG

W Wiy =y (At )
WY

wd

FW B T A Y @ wiE T8 g
g §E W 9T

FIEH T

gansﬂtmmﬁzonaﬁmaﬁ%ﬁuﬁﬂﬁqﬁﬂaanﬁé’mﬁa

4
10,50,000
1,40,000
5,60,000
35,000
2,45,000
70,000
1,00,000
52,500
1,26,200
28,00,000
20,000
22,40,000
50,00,000
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| ' 7,542 2,600 1,980 2,962
T Helgd 9,000 2,000 3,000 4,000
IEAT  3NEESH 9,000

mﬁiswﬁrnﬁtaﬁa%woowaﬁaﬁﬂflmmﬁﬁﬁm
i’rumwaejrqtmo%%m%aaﬁﬁaﬁwam%u -

arafie Saew TR O B i gfie /R o

- fewar 1 950 5%
:wﬂmﬂa@"&m 1 840 spisesi Tl
-4 wiehar- O . 250" G R
e _ (15)
+ () facf e s e e T e X S T w0 e
&t IUET R . ' et (5)
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(1) ﬂ?%mﬁmamﬁﬁﬁmmﬂ‘m’wmﬁmmﬁfm
ooy ¥ .
famon y
e Pl ) mpra -~ 2,50,000
TTE T i v o R A0
i A g, A 6% 73 70
3 71 famrm v @ - 3,000
FIAY waafa 51 799 15w - 6,000
WA % At w1 3 9 A - 4,000
TAF T A (9 2a) 7 A - 4,000

Fardll w1 S 2,25 000 o 1 FrEE #A 2 7 25,000 9 T2 T 7 FFEA
31 v Puht A 5000 A TR 1 ¥R W TR 9 20% WRD 9E @ 2
S 7 T 10 T v 21 7 34 WA R F1 AR | WA E ae
v 7= fafau =g e 212,50 WA 25 7 wE 20

v Feretries ol IETE 91 YHE A # 90E E4 | At T wER 210 Wi
2 1 UBd a9 &1 @9 W AE Fhael (10)

aqrt

(%) v femit - vy aRaes &9 21 760 7 49 9% 39 9 2 o 50 R 0 W
#| v 99 F1 9o & &9 50 WA &1 2 S ariae ) o 964 @ SHal
T 80% 21 9V 4 78 WEM A 25 oA o € Ak v o9 wiER UE 99 O
21 T - f&4 & o F1 (s)

() frfafes w Afaa Ay e
(i) mm%ﬁa‘aﬁmaﬂzmw ,
(i) = Wi AR A wE (10)
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Instructions for Candidates

I Write your Roll No. on the top immediately on receipt

of this question paper. .

o

3 Answers may be written in English or in Hindji;

Attempt all questions. All questions carry equal marks.

the same medium should be gsed throughout the paper,
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Discuss various factors which contribut
B oute to the
success of an E-Commerce business.Explain in brief
+he concerns business has to undersiand. while goi
nd. olng

online.

i_" - . - -
: =% =EEE T S5adl 5 GFEE T 319 AT ael

m T HaT1 949 ¥ S9N i® JAEaEE =559 3 5P

= T ¢ fwS A = FEZ =neql

orking of World Wide Web.What
racteristics of Web

of e-commerce?

2. Explainin brief the w
according to you are the core cha
that have helped the propagati_on

= e 3w e § AR § 9 T FT
A8 & 9K

Wéﬂﬁﬁﬁﬁﬁﬂ?ﬂ%ﬁ*ﬁé“
AR A 27

OR
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What key indicators sugpest that F_comlﬂ"r ce 18
to stay? ’
W= W W T Ry oo BT
3?

‘ . y |8 : an
3. Differentiate between symmetric key ean)’puon

asymmetric key encryption.

, “ﬁ“@ﬂvﬁ‘ﬂﬁaﬂrmaﬁw%ﬁaﬁ
Ealivid
OR
- qat
-What do you understand about middleware? Explain’
th(, lole played by mlddleware in e- commere '

'_fﬁgﬂ%ﬂt%&ﬂqwm—aﬁ%?é wﬁﬁﬁzﬂ%ﬂ?mﬁ’ﬁ -
mer Enﬁr \Tﬁ’nm zﬁr RET | afﬁfmza . -
4. What are the d'i_ff;:rent stéﬁs‘ involved in'Dig.ital_('?as‘h
Payment? | - |
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OR
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|
|

“ NSE has emerged as the leading stock exchange of |

India”, In the light of this statement, explain the |

featurces and l'undlioning of NSE, (15)

e SIRE s Wi g A e ¥ 3w 2
R e TR i e B R B BT o S
ae #lfg)

OR
o1l

(a) Explain Systematic Risk and its various sources.

(7)

m@ﬂﬁ@%ﬂ&ﬂ?ﬁﬂﬁ?ﬁﬁ:{ﬁ‘aﬁwml

(b) Differentiate between IPO ang FPO. (8)

Wﬁﬁﬁ&ﬂtmaﬁ%ﬁimwrﬁml

(a) “Company financial play a vita] role in assessment
of it’s performance” illustrate {he statement by
highlighting various things to be covered while
doing company analysis? (15)
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v it R Rt 3w yad @ smen 3 v wET
i PRl 2711w v ey g et F A AR
fafirr e Y IGINR && @y &) @ Fg ¢

OR
art

(a) What do you mean by Price earning ratio? How it
is calculated? Explain it with the help of suitable
example? (8)

Waﬁwm%mwwﬁ%?mmﬁ
& T 27 IIgEd JeE i GeEdl ¥ THeh! R
Fifg 7

(b) Briefly explain the International and Domestic
economic scenario to be studied while doing

economic analysis under the EIC. (7)

éﬁ%mmmﬁwmwwﬁqwﬁ
T s 3R e, i TRgE Wl wew A e
HifoITl

P.T.O.
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3. (a) What do you mean by trend analysis? How
resistance and support level are useful for an
mvestor’s decision making? (8)

wafs /¥ faweinoy AT R WER ¢ 7 v [ame
@ favla 37 2 v wiRy R TdT w93 I
TR 87

(b) How a Technical Analysis is helpful in assessing

stock for investment purpose? (7)

ﬁ%m%aﬁa%ﬁmmmwﬁﬁaﬁaﬁ
farin 9/ wEEeE Bar 27

OR
(a) Compare and contrast the following:
(i) Bar chart and candlestick chart
(i1) Primary trend and secondary trend

(iii) Double top and double bottom pattern
(5%3)
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frafofed o AR sw A
() W o e
(i) e vaf /e s e T /w=
(iii) Za@ ¢ R wEw dew Yo

4. (a) Describe the factors affecting choice of Mutual
Fund? (7)

g WE A wEe W NIRRT A R
i A ?

(b) Following Information is available in respect of
Mutual Fund of 7 Ltd.

Cash and bank balance 3,00,000
Bonds and debentures 1,80.000
Govt securities 2,70,000
Equity shares( Current Market value) 1,00,00
Accured Income 60,000
Expenses 50,000
No. of units 20,000

PO,
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677
Find out the Net Assets Value per unit of Mutual
Fund. (8)
7 fifices & TIAAA e & 99y ¥ fS=faRag J=a
Iqeed Bl
Adhe AR d dold 3.00,000
a5 R fBeay 1,80.000
SR Aicsyfaar 2.70,000
STaacT RN (@A dISTR Hed) 1.00,00
ST 3= 60.000
W< 50,000
gi=ie hraear 20,000

AT hwe 9 ufa giHe AT TAC 9« H UGl THNET

OR

(a) Describe CRISIL ranking of Mutual Funds. How
(8)

it is useful for Investors?
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w31 e S ey a5 q i ue Fam
& Fw 8 30 27

3 s ; ,
(b) Bxplain Bvolution and Growih of Mutual Vind
Industry in India,? (1)

R W VRS HE I o A ol A A e
il

5 Write n note on any three ol the Tollowing: (15)

(n) Online Trading

(h) Do's and Don’ty in Investing Markel
(c) Types of order

(d) EVA

N LR

() sifeieia glEn

(w) fdwn s A i ot Al

|JF‘|"().
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of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written in English or in Hindi: but

the same medium should be used throughout the paper
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3.

4.

o TR W HE W B
I ST W BE A R o owwy #1 AR R Aw A

& B WU W IR R ST il

Discuss the evolution of e-commerce.

T-amd & fAwmmmy @ RAser $ifko

OR

ar

Explain the infrastructure of e-commerce,

- @) SMURVE WEA W el I

What is the Brick and Mortar business model? How
is it different from the Brick and Click business model?

fier ¢¥ Meft fsmw wiver =0 87 a¥ fiw o8 RAww Asmg
W A g wwr et 87
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OR

q1

Explain the activities involved in the Designing,
Maintenance and Enhancement Phase of the Life

Cycle Approach of an online business plan

T SRS TR A & R Th ghesin & R,
T R g o ¥ wie R € o SR

3. Security controls need to adapt fast to the changing

technology. Comment,

T R ) ew e @ FFER Ao d e
ﬁﬁmﬁ%n_ﬁwﬁﬁﬁl

OR

Write a short note on spoofing and confidentiality.

e o A w w A A R
B T0.
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4, Explain the concept of UV and 134V5,

UPL 5 IMPS H1 e ) sy 1500

OK

Explain Online Banking. What js its importance?

Atz Afxm 1 mem #ifaa om g w17

5. E-Books are the future of the publishing industry.

Comment.

- wEme 3w w1 wfra i fzord A

OR

a1

What are the major legal issues of E-Commerce?

f-wtd & v w gE o B

(19000)
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Instructions for Candidates

.  Write your Roll No. on the top immediately on receipt
of this question paper.

12

Attempt ALL Questions.

3. Simple Calculators are allowed to be used.
4. Working Notcs should form part of the answer.

5. Answers to theory questions should be brief and to

the point.

6. Answers may be written in Hindi or English but
the same medium should be followed throughout the

paper.

P.T.O,
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(a) On 31st March, 2022, the paid up capital of OV

Convertible Deb

T x| e N

QR ERERRCY. U a @) sl #
8. whw -

Rt A W s I @l BEn e #

fraife wet @ IR afes B =ik

wm—wﬁnwaﬂs‘ﬂmﬁf&fﬁﬁwaw?fé\ﬁ
| ) ) uQ,?II'?}TrT
Tt IR T WA TR B B =6 |

Ltd. is T 36,00,000 consisting of 2,40,000 Equity

Shares of T 10 each fully paid up and 1,60,000

Equity Shares of T 10 cach, T 7.50 per share paid

up. It has 7 2,40,000 1n Securities Premium
Account, < 2,00,000 in Profit and Loss Account

(Cr.); X 4,00,000 in General Reser
Capital Redemption Reserve
as T 24,00,000, 12% Partly

entures of T 100 each (20% of
res of

ve and

75.20,000 in
Account. It h

Debentures are convertible 1nto cquity sha



081 K

V10 ench fully paid on st June 2022), On Il
April, 2022, the Company docidéd to conver! the
partly puid equity shatos into fully paid shares by
wity of bonus and to issue fully paid-up Bonus
Shares 1o the holders of (ully paid up shares 1

the same ratio. Caleulate the amount of Bonus,
(24242=0)

(h) AATMA Ltd. decides to redeem 2600, 15% Pref,
Shares of T 100 each at 10% premium, It has o
Gieneral reserve of 4,062,000, Sccurities Premium
ol TA4,000 and Investments [Face value T 4,00,000]
of ¥ K,00,000. 40% of Investments are sold at
150% .11 the new equity shares are to be issued
at 25% premium and minimum General reserve of
T 2,00,000 is 10 be kept. Caleulate the minimum
number of Equity shares of ¥ 10 each to he issued
for the purpose of redemption and (he nmount
requived to be transferved to Capital Redemption

Reserve Account, (343~0)

(¢) On 1.4.2018 PARMATMA Ltd grants 100 Options
to cach of its 2100 employees at T 24¢ when the
Market price 1s ¥ 360, The vesting date g 3lst
March, 2020 and the exercise date s 31t March,

P.T.0,
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2022 At the end of year 1, the company found
_that 100 employees had left. At the end of year 2,

* the company found that 80 eﬁ]ployees had left. At~

the end of year 3, the company found that 192
employees had left. Only 1700 employees exercised
their options on 31st March, 2022. The face value
of equity share is I 10 per share. Compute
Expenses to be recognised in each year by Fair
‘Value Method and the Value of Options
Forfeited.(Assume that the Market price per share
is T 360 at 31st March of each vear).

(2+2+2+2=8)

OR ALTERNATIVE QUESTION

AMLA GILOY & TULSI Lid provides you the
- " _—
following relevant information as at 31st March, 2022 -

2 inkxh
Particulars {2 ¥ )
— £00
10% Redzemable Pref. shares of T 10 each fully p2:0 UP
1200
_E Quity Shares of ¥ 10 each fully paid up
| 520
Secmmes Premium
[y . 530
General Resarye
.______-_--___

et L el K il
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Protit & Loss Acoaum i
T —— T Ty e T TR ST T T T AT T TR
(‘apnnl I\aﬂmnpuun Hnuww we
i‘l:iut Havaluali\m Hosene N f(‘\"\‘-\"
|\ah:mlum ﬂﬁdmnmtuu Huﬂmw H\:‘
12% Debenhies (ut t ~\\1u mwm di
Qensial Invmumnutn |l'xu‘-¢1 Value t w0 Llhl l| lti\‘i‘
lm'oullnul\lh in Lda 000 (\nn (\uhunlumh (Fay
Debantiie i'leslumvuuu Hesaive Ill\'cmlmmun [Face Value w
T A0 lakh)
Cash al Bank L)

- e e |

On st Apeil, 2022 the compaiy devidod:

(1) To buy back 8 Takh equity shagex ot © 300
(his purpose, 40% af Goneral Tivestinenis wege

poaltzed at marhot price whiteh wine LAY (he

fhee value

() To redeem the Pret, Fonhinron b i promdum of 108,

(0) To cancel Tnvestments i Own Debentures and o
rodleemt the Dehentures ot @ preminm of 84,
Debenture Rademption REsorve hvestinonts
vealized 20% more (i tes vidue: Later on (he
company (isned three (itly il FQuity Shies

T,
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6

of T10 each by way of bonus shares for every
five equity shares held. The company desired to

have minimum reduction in free reserves.

Required: Pass the necessary Journal Entries
relating to part (a), (b), (c) and bonus shares.
| (4+4+8+4=20)

(%) i 31 9, 2022 =i, A fafcs =it g gof
¥ 36,00000 F 7 e 210 & wAE U e
2,40,000 3fFEE WA € AN T 10 WAF & 1,60,000
=fEél Wk B1 7.50 W WA I EE FW fEr
21 zg% Wik WfEw @™ ¥ 2 2,40,000, T K
= @H ¥ 7 2,00000 (FE), AW IR #
Z4,00,000 AR G faHres ARfe @@ # ¥ 5,20,000
%) =98 ¥ 7 24,00,000, 12% HATGF #1 4 IRaa-G
B 7100 WEF (20% T 1 5 2022 F T
TF § WA FY MG FEE 10 T F e 6w
¥ ufadgm £)1 fArw 1 @e, 2022 F, FE A
A 1 ¥ JEE e W EE E F A F
T 3 U A A A g e i Fee il
7 N FAE A U0 Aw d 9y e T ol
B 21 4 A1 A F WO A



NIRRT A 95 21 TS S $4,62.000
= T, T 4,000 = = WAHS Wees 3k < 8,00,000

-

F1 T (559 w7 14.00,000) whw 21 BT S
40% 9T 150% W= =7 it 2 m%wggﬁﬁggg
ﬁﬁ%ﬁ‘ﬁ“q?m%mm%ﬁzmmo:ﬂ%
FN AT T FRET F99 @ 9 2, & e
F I F TW HY I I = 0 T = ==

- "\-

b T T -~ = R -
AU =i 99 = 3-"“-{ 9l A== iwxq < N

o W

A RS S0 ICT T JAEEF TS F OO Sras!

el 142018 =1 T L a9 2100 =% X
q ThF D 240 T T 100 &7 BFN =T = g
W 99k e 360 T 71 fRE R 31 v, 2020

2 IR g Al 3199, 202 Bl s o @ &5
A, Tl A 3@ [F 100 FH9) IS QI A T ® IF
¥, 80 FHAN T TWI TH TW D JF [, 192 THI
AR T T F FE 31 7N, 2022 S T ¥ =5
1700 FHARA ¥ O¥ e = W B s
A% FT T T T 10 W IR D AT =X ¥ 3R
e el AR W fawed & a8 iR Ry wi
T = A FA (A G & v of ¥
i 31 W S AN TR TR T 360 TR ?),

P.T.0.
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RAE 1 389, 2022 9, =o 3 Rig B

(%) & == T°"=d 333 = 750 w aw waed = A
H“"?E%a%ﬁ 4331 =7 40% SR 999

T I9N =R IET =t T = = 125% o1

() ==71 5= =0 = 0% = GRew ® R 9 A0
==l <l

s P |
() == =5 =7 o9 =« == = Hug om0
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2. The following are the €

xtracts of the Tnal Balance of
ALOE VERA & WHITE PETHA LTD. as ar 3igt

Narch, 2022 :
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(o) Under The Companies Act, 201 “Free R:,scrvcs
do not include Securities Plcmmm Actount,
Comment. (1)

() Financial Statements of' every company include
Cash Flow Statement as per The C Qmpmu;,\ Act,
2013, Comment, (1)

(g) The figures appearing in the Financial Statements
as per The Compantes Act, 2013 may be rounded
off to the nearest crores only if Turnover is more
than T 100 crore. Comment. (1

M) BHARAT TUSHAR Ltd. provides you the
following information :

Raw material stock holding period: 4 months, Work-
in-progress holding period: 2 months, Finished
poods holding period: 3 months, Debtors collection

period: 5 months

You are required to compute the operating cycle
and State with reason whether the following should
be disclosed as Current Assets or Non-Current
‘Assets or Current Liabilities or Non-Current
Liabilities in the Balance Sheet as at 31st March,
2022 as per Schedule I1:

(1) I, a customer whose expected realisation
date is 30th April, 2023.
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(1) X, a CilStomer whose expected rea]isation'

date is 30th june, 2023.

(iii) ¥, a supplier whose expected payment date

is 30th April, 2023.
(iv) Z, a supplier whose expected payment date
is 30th June, 2023. [1+(4x0.5)=3]

iR 31 W, 2022 N wery v eree Ao fAfEcs & qAIC
=7 fera faaor eefaRag 2 - ‘

e—— . — T (=. @@ |

I — - . 1520
15 @T@, 103 ZTeT 2w ¥ 2100 ek, 80 THaT 1200
Ao fir TEfr o g g™ | - 56
we R 60
TSN 37 AT 3171 4 (T S0 o7 PR @ 4 ) 348
210 ¥ 160 @ ST < T 938 a1 1600
% 10 ToIF % 40 AT ST AT, 2 7.50 F @A fhrmar | 300
16 ATE 100: FFET AT T 100 TAF F T THaT 1600
120:, 8,000,000 ¥ 100 ¥ f*&=< Q{1 a3g & qFav ] 800
(01.04.2020 FI ) -
ﬂﬁ%ﬁﬁﬁ‘(t}l.oq.zozlﬁﬁm) 60
A g amar (3fAe) (01.04.202i%a3-a1z) * 4
T wi fSweT T @ . 3] 40
e R e ; 80O

PiT.Q.
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) e T RS ¥ PR o g o4
aﬁmaﬁiﬁmaﬁ.@m:d%m m‘_
aﬁﬂ:Q%,Wmmﬁﬁ‘ah @l
A Far: 5 el 3 W, S

@Wwﬁmmﬁ st
?ﬁﬂ%mwm&%wm'
s RS 317, 2022 W & sﬂﬁqi;m;:a
Eﬁa@mmﬂ?-a@mmwm
ﬁi-iﬁﬂﬁmﬁﬁ%mﬁmmmmﬁ

fifi 30 a0, 202 |

(i) s, v e o g Bt o 3
fafd 30 W, 2023 Bl ‘

(i) %, v g fe e e A
Rfr 30 a0, 2023 2

() 3%, v o e o 9 S
R 30 T, 2023 ¥

acts of the Balance Sheets of
Inflow from

isclosed in the

3. From the following extr
GINGER Lid., Calculate Net Cash
Operating Activities after Tax t0 be d



Cash Flow Statement as per AS-3 issued by JCAL

‘Particulars

31.03.2022 ‘;f.mﬁﬁél J
? i
Equity Share Capital of 7 10 egeh 40.00000| 2600600
5% Preference Share Capital of 2 100 each 8.00.000| 1600000
General Reserve 6.60,000| 1760000
Profit and Loss A/C 26 08,000 (62,000)
Securities Premium 1 80000 80 000
Capital Redemgpton Heserve 2.00.000 600,000
Employees Stock Opton Outstandng Ak 340000 200005
14% Debentures 10,400,000 6,00,
Short-term Borrowings (14% Bank Loan) 1,60.0040 2.00,00
Trade Payables 6,60,000 3 50,000
Provision for Tax 1.60,000 60,000
Tangible Fixed Assets EE00000| 6280000
Accumulated Depreciation (16,20.000) | (12,96.000)
intangible Assets (Goodwill) 84,000 40,000
10% Current investments 8BOOOGY 220000
8% Fixed Deposit (Date of FD 15t Mar. 2022 matuning 11,536,000
on 31st May,2022)

Cash a1 Bank 4.00000] 400,000
—— 76000  2.16,000
Tribs Pcalvibiss 2852000\ 2572000

P.T.0.
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Addltlunal Information :

vidends (including an Interim Diyige

(a) P .
paid on Ist April, 2021,

' were

nd (@) JS'!-II)

(b) During the year & machine (having necumulate
Depreciation) Was sSold for 2,00,000 1 o st
37.5%. A fully depreciated maching wy ‘I;I.\'u

discarded. Machinery costing ¥ 17,60.000 Wil

purchased for cash.

(¢) On 1st Jan,, 2022, Some Current Investmonty
costing ¥ 8,00,000 were purchased and Some
Current Investments were sold at o profit of 20%
on sale. New Debentures were issued and Bank

Loan was repaid on the same date,

(d) On Ist May, 2021, new lLquity Shares of T10
cach were issued at a premium of 10% and
Preference Shares were redeemed al o premium
ol 5%,

(©) On 01.01,2022 Ltd, was

[ ]

the Business of Y
purchased for ¥ 2,40,000 payable in fully paid
Cquity shares of ¥ 10 each at 20% premium. The
assets included Inventories ¥ 00,000 Trade
Receivables ¥ 40,000 and Machine ¥ 1,20,000.

Trade Payables of ¥ 60,000 were also taken over.
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(f) Tax provided during the year was ¥ 1,20,000. Being
a prudent accountant, ensure minimum reduction

in free reserves.

OR ALTERNATIVE QUESTION

(10)

(a) From the following extracts of the Balance Sheets
of KACHCHI HALPI Ltd., Calculate Cash Flow
from Investing Activities and Financing Activities
to be disclosed in the Cash Flow Statement as per

AS-3 issued by ICAL

Particulars ' 31.03.2022 | 31.03.2021
(4 4

Equity Share Capital of ¢ 10 each 40,00,000| 24,00,000
5% Prefsrer;ce Share Capital of ¥ 100 each 8,00,000| 16,00,000
General Reserve 5,60,000| 17,60,000
Profit and Loss Alc 26,08,000 (52,000)
Securites Premium 1,80,000 80,000
Capital Redemption Reserve 2,00,000|  6,00,000
Employees Stock Option Outstanding A/C 3,40,000 2,00,000
14% Debentures 10,40,000|  6,00,000
Short-{en;n Borrowings (14% Bank Loan) 1,60,000 2.00..000

8 10 6
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Tra0e Payabies €W0000] v&aon
camed Dvidend on Equily Shares 80,000 :
m interest oh Debentures w00 i
Qutstanding Underwiiting Commission 20.000
-;wgon for Tax - 1.80.000 82,000
Tangble Foxed ASSels 85.00.000| s28000
Ascunuiated Depreciaton {(1520.000) | (12.00000)
intangdie Assets [Goodwill] 84,000 40,000
10% Cufment investmenls 8,80,000 3.20.000
intarest Accrued on Cumrent Investments 8000
8% Fmxed Deposit (Date of FD 1st Mar., 2022 11,383,000
matunng on 31st May,2022)
Cash at Bank 532,000 400,000
inventories 8.76,000 218000
Trads Receivables 2452000 2572000

Additional Information:

(i) Dividends (including an Interim Dividend
@ 35%) were paid on Ist April, 2021,

(i) During the year a machine (haviog
accumulated Depreciation) Was sold for

7 2.00,000 at a loss of 37.5%. A tully

depreciated machine was also discarded,
Machinery costing T 17,60,000 was

purchased for cash.
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(iii)

(iv)

(vi)

21

On 1st Jan., 12022, Some Current

Investments costing ¥ 8,00,000 were
purchased and Some Current Investments
were sold at a profit of 20% on sale. New
Debentures were issued and Bank Loan
was repaid on the same date.

On Ist May, 2021, new Equity Shares of
T 10 each were issued at a premium of
10% and Preference Shares were redeemed
at a premium of 5%.

On 01.01.2022, the Business of Y Ltd. was
purchased for ¥ 2,40,000 payable in fully
paid equity shares of ¥ 10 each at 20%
premium. The assets included Inventories
¥ 60,000. Trade Receivables ¥ 40,000 and
Machine T 1,20,000. Trade Payables of
Z 60,000 were also taken over.

Tax provided during the year was
7 1.29,000 (Including tax @ 15% on short-
term capital gain on [nvestments), Being o
prudent accountant, ensure minimum

reduction in free reserves. ()

(b) If in the above Question 3(a) Net Cash Flow from
Operating Activitics before Tax is T 36,40,000,
then calculate Net Cash Flow from Operating
Activities after Tax. (1)

P.T.Q,
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sy fafade W A Me @ Fosfafer fraiy A, surddi
g W0 O -3 W SR AN w R A w0
SER Sl E RS IU C  T pe————y

fgzer 03,2022 | 31.03.2021
cps e pheRe t 10 40,00,000| 24,00, 0ug
o i X7 QT TNE 2 100 8,00, 000 1("—“
== R ' 5,60,000 17, 60, 000
ars ¥ i @A 2€,08, 000 (52,000} |-
st ST 1,80,000] . 80, 000
& fawra= frad 2,00,000 6, 00,000
w=9r71 =ty ey 3y gy 3,40, 000 2,00,000
14t Tr (fraaT) 10, 40, 000 6,00, 000
Forefay 7y (144 S =07) 1,60,000 2,00,000
arT zEzfnt 6,60, 000 1, 60,000
=T 7 fom qrnma 1,60,000 80,000
157 o fremfeang 66,00,000| 52,80,000
=7 gy oy (15,20,000) | (12,00,000)
7uF dfn e 84,000 40,000
+ ks gy | 8,60, 000 3,20,000
o = 1 ok £y a1 wrd, 2022 9y 21wk, 11,236,000 .
| iRty rp g
bridvet; 4,00, 000 4,00,000
3 146 6,76, 000 2, 16,000
et 24,582,000 25,112,000
"—_ﬁ"“—» il PRI B e

~ah il
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R T

(%) w5 N oy qeer- i @ Rt G
%qummmmw%‘mmm
o ¥ v Ry o aR fam el A
R FwR ¥ TR yaw A e FA

; e 31.03.2022 | 31.03.2021 .
=it A ot 7% ¥ 10 40,00,000|  24,00,000
5% AT AL YST qeqH T 100 8,00,000 16,00,000
EEEC RS ' 5, 60,000 1-7,60“,0-’_‘8
=T 3 T @rar 26,08, 000 (52, 000)
wﬁqﬁ.ﬁﬁw : 1,80,000 80,000
& A= =y 2,00, 000 6,00, 000
FHATEY w2t e awTaT a@Tar - 3,40, 000 2,00, 000
14% arz (RE=w) 10,40,000 6,00,000
FeFTor®: 3977 (14% d% =om) 1,60,000 2,00,000
ZITF ZART At 6,60,000 1,60,000
20547 It 7T AT AT * 80,000 -
37 g7 T ST 40,000 B
arzféar areaiefin Fftaa 20,000

?’TW%F’ITTWW 1,60,000 §0, 000

P.T.:0;
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ﬁmwﬁﬂﬁﬁ 66,00, 000 52,80, 000
m (15, 20, 000) (12,00, 000) |
m 84,000 40, 000|
m 8,80, 000 3,20, 000
mw 8,000
e aafir o (T AT AL A, 20221 11,36, 000 -
G 31, 2022 F1 AfE S S T
%)
PP 5,32,000 4,00, 000
et 6,76, 000 2,16, 000
IS 24,52, 000 25,772,000
faRaa &R

(i) feere 1 3mer, 2021 & wwW (35% = W A
siafar e wiRe) @ s e far )

(i) =of & X ver weler (SR Teae) 37.5% A

B W % 200,000 F AN TE Mgl we
W@“Wﬂﬁﬂ#ﬂﬁ%ﬂﬁaﬁmﬂmhm@
T 17,60,000 SR &) WA Faw A

Q| TS R

(i) fesrer 1 o=@, 2022 @), ¥ 6,00,000 el T
T g e B wi g sk e
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129 200, sy e W fad By oy fedv Ao

Y M ¥ e ) Ay ) A
fFa

RE 1 9, 2021 WY, w10 qu gl
ﬁaﬂo%ﬁ’rﬁmmmﬂﬁmm 4 3 g0
ﬁuﬂ'ﬁs%ﬁtﬁmmwmr ar

et 01012022 &, ag fafiRs @ aaam @t
¥'2,40,000 ¥ &t forr wrr o, S 20 fifi
W0 & qf sy am zfadt dd § 29
oM IREGafT ¥ 2 60,000 A =¥ Wl #)
IR Wit T 40,000 3 FHFY 2120 000
U9 60,000 T & =ER 3 W F R w1 2

T & IRH FOUN B BT T 129000
W fohar wrar o (Frew W seeRiferr g
A W 15% W ARd) v eyt Sarw
B & AR, T o ¥ e A g
o

(@) afz Iugad 9o 3 () F o= ¥ 9B TR ARk
¥ 7@ AHE FAB 36,40,000 T B, A W @ e
fearerr ARk A 7@ TR T W T

P.T.O.
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(a) Given below are the extracts from the Balance
Sheet of SHEENA Ltd. as at 31st March, 2022 :

Particulars s
Equity Share Capital of ? 1.0 each 8.00,000
8% Pref. Share Capital of ¥ 100 each 2,00,000l
General Reserve 80,000
Profit & Loss A/c 64,400
Statutory Reserves 20,000
10% Debentures 2,00,000
Trade Payables 5,60,000
Tangible Assets 6,00,000
Goodwill 4,78,000
Inventories 2,20,000
Trade Receivables 2,60,000
Cash at Bank 3,66,400

Prior to absorption, SHEENA Ltd. decides to
declare and pay equity dividend @ 5%. The
" business of SHEENA Ltd. is taken over by
BHARAT Ltd. as on that date on the following

terms :



681 27

() 30%-o¢ Tangible Fixed Asscts are taken over
at 1009%

rem

more than the book value and the

Aining Tangible Fixed Assets are taken

over at -20% less than the book value.

oodwill of SHEENA Ltd. is to be valued at

(b) G
Y 2,10,000.

(¢) Inventories are taken over at book value less

10% and Trade Receivables are taken over

at book value subject to an allowance of 10%

to cover doubtful debts.

(d) Trade Payables are-to be taken over subject
to a discount of 5% and -Unrecorded Loan

Liability of ¥ 1,54.000 to be discharged by
BHARAT Ltd. at book value.

(e) The purchase consideration payable by
BHARAT Ltd. was agreed as follows:

(i) The issue of such an amount of fully paid

14% Debentures in BHARAT It4 at 96

P.T.O,
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_ percent as is sufficient to discharge 10%

(ii)

(iii)

(iv)

Debentures in SHEENA Ltd. at a premium
of 20 percent.

The issue of such an amount of fully paid
(0% Pref. Shares in BHARAT Ltd. at
125% as is sufficient to discharge 8% Pref.
Shares in SHEENA Ltd. at a premium of
20%.

One Equity Share of T 10 each, T 8 paid
up valued at T 15 per share for cvery two
Equity Shares held in SHEENA Ltd. and
the balance in cash. The market value of
an cquity share of BHARAT Ltd. at

present is T 100,

Expenses of liquidation of SHEENA Ltd.
are to be reimbursed by BHARAT Ltd. to
the extent of ¥ 40,000, Actual Expenses

amounied to T 56,400,

Required: Show the calculation and discharge of

Purchase Consideration. (643=9)



(b) Pass Journal Ensries tor the following trensactivns
of NEEM LTD -

(1) Conversiop of % lzkb folly pzid egemy
shares of ¥ 10 each into Stock of T £.00.000

and balance as 12% fully Cozversidls

Debentures.

(1) Consolidation of 160 lz2kh fuily pead =g
shares of I 2.50 each inio 40 izih folly

paid equity shares of ¥ 10 =ach.

(ii)) Sub-division of 40 l=kh fullv paid 11%
preference shares of X 30 each into 200
lakh fully paid 11% preference sheres of
X 10 each.

(iv) Conversion of 12% preference shares-of
T 20,00,000 into 13% preference shares of
T 12,00,000 and remaming dalance as 142,

Non=cumulative preference shaves.

(L8x3~§)

L0,



OR ALTERNATIVE QUESTION

(1) TASHIKA TUSHAR L, Provides you (he

following information as at March 31, 2022,

Panticulars " | ( ® in lakhs)
Equity Shares of ¥ 10 each | 2000
6% Cuﬁr Pref. Shares ol T 100 ueu:hr 400
Profit and Loss Account (Dr) _ 0
10% First Debentures : 2"0..
10% Sécond Debentures -lnl;
Debentures Interest outstanding 6l
Trade Creditors ﬁti(T
Plant & Machinery ) S
Note . Dividend on Preference Shares are A

fH‘o“t'ur‘g- f‘)’- !;”.l.-.‘a ‘\'(4(”".\'.

The following scheme of internal reconstruction

VoS approved and implemented:
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(i) All the Cquity shares'be converted into the

3:1{11:: flimber of ¢quity shares of ¥ 5 each,

(i) The preference shares are converted from -

6% to 'IS%'but revalued in a manner in
which the tota] return on them remains
unaffected. Four €quity shares of ¥ 5 each, .
< 2.50 paid up to be issued for each T 100

of arrears of preference dividend.

(iii) Mr. A holds 10% first debentures for ¥ 160
lacs and 10% second debentures for ¥ 240
lacs. He is also a creditor for T 40 lacs.
Mr. ‘A’ is to cancel ¥ 240 lacs of his
total debt and to pay ¥ 40 lacs to the
company and to receive new 12%
Debentures for the balance amount. Mr. B
holds the remainingl0% first debentures
and 10% second debentures and is also a
creditor for T 20 lacs. Mr. ‘B’ is to cancel
T 120 lacs of his total debt and to accept

new 12% Debentures for the balance

amount

P.T.O:
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(iv) Trade Creditors (other than A und B) are

(V)

given the option of e¢ither to accept
equity shares of ¥ 5, T 2.50 paid up cach,
for the amount duc to them or to
accept 80% of the amount due in cash.
40% Creditors accepted equity shares
whereas the balance accepted cash in full

settlement.,

Any surplus after writing off the various
losses should be utilized in writing down

the value of plant & machinery.

Required: Prepare Reconstruction Account.

(12)

(b) Write any three differences between AS 14 and
Ind AS 103. (3)

(%) femrm a1 i, 2022 @@ e fRlRe @ 4w @
Ao fagon AR faw 10 F

B D 0Ty e
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a1 anafeet #, 80,000
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(iii) Wwa}m“mﬁzoowmﬁ' 50
W’*’%”%aﬂqﬁfﬁlﬂi‘faﬂzﬁm%w
farar 21

(iv) 2000,0007% D 12% Tt A3 Y 12,00,000
T @ 13% AT Vg ¥ gk 3 e 14%
WR-EE ST o 2 v ¥ gRaew DR

(a)aﬁm@“%ﬁ%gmﬁﬁmmﬁ, 2022 I
T HE YA FY @Y R -

ez (5. =T@)
sfpdl A TAF 10 wqT 7 2000
6% FIRLIT AT T4 100 F 977 400
AT 4 2 =TT (3R 60
10% ggeT 2= . 240
10% g =0T | d 400
fea=T =TS T . 64
ATYTIE FATETC 660
wiiz 7 g4 | 2878. 4




(iii

T AR 69 ¥ 1595 ¥ At T @
? T T8 T ¥ i R e @ o
ST W Fo wiywe (Resf) smonfaa @t 21
AT T D Tehrar =% w2 100 T B oG

Wt T I @ R 250 @ @ WR =R
TR F AR R w2

ﬁq_%mmom@%mm%w
fRefor 3 240 W TR ¥ .10% TE R 1
€ 40 WG T H oFER 0 21 S} U oSy sy
@amﬁzaoaﬂatﬁaﬁw'.méaﬁz
HE W 40 WG T F AT W 2 3k
A T B fw T 12% BER W w2

P10
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(c) The Land & Building of S Ltd. w

40

(a) H Ltd. acquired 1,20,000, Equity Shares is S Lid

on 1.7.2021. On 1.4.2021, the credit balance of
profit & Loss Account of S Ltd. was ¥ 8,00,000
and that of General Reserve on that date was

Z31,70,000.

(b) On 31.8.2021, S Ltd. declared & paid dividend

@ 20% on equity shares for the year 2020-2021.
H Ltd credited tlie receipt of all dividends to
its Profit & Loss Account. On 1.11.2021, S
Ltd..issued 2 shares for every 5 shares held, as
bonus shares. No entry has been passed in the

books, of H Ltd. for the receipt of these bonus

shares.

hich stood at

¥12,00,000 on 1.4.2021, was considered as worth

of ¥ 28,00,000 on [ 7.2021, for which necessary

adjustments are yet to be made.

Fixtures of S Ltd. which stood at Z 12.00,000 on
worth of ¥ 4,00,000

sary adjustments arc

The Furniture &

1.4.2021, was considered as

on 1.7.2021, for which neces

et to be made.
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({d)H Lid.

41

and S 1 .
st July 202 d- agreed thar with effect from
s Y U2, for Services rendered, H Ltd. should

charge Y 40
E 000 p.m_bu No accounting effect has

ct been give -
% cn given, Dunqg June 2021, goods costing

X 94,000 were de
0 were destroyed against which the insurer

paid only ¥ 8,000 10 S L1d.

(e) H Ltd. owed S Ltd. ¥ 12.00.000 for the purchase

of stock from S Ltd. which made at a profit of
20% on cost. H Ltd sold some of these goods for
I 11,52.000 at a profit of 20% on its cost till
31.03.2022. On 1.1.2022, H Ltd sold to S Ltd a

Machine for T 9.60,000 at a loss of 25% on cost.

Depreciation at 10% p.a. was provided by S Ltd

on this Machine.

Required: Calculate the Minority Interest, Cost

of Control and the Balance of Consolidated P& L |

Account to be taken 1o the Consolidated Balance

diary, as at 31st March,

Sheet of H Ltd. and its subsi
(4+5+6=15)

2022.

P10
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OR ALTERNATIVE QUESTION

Gi\?en below aré the extracts from the Balance

Sheets of H Ltd. and S L'td. as at 31st March

2022+

Particulars H Ltd. S Ltd.
4 3
Equity Shares of ¥ 10 each 40,00,000 28,00,000
General Reserve 24,00,000 25,62,000
Profit & Loss A/c 12,40,000 5,22,000
Loan from S Ltd. (including Interest) 50,40,000 —
Current Liabilities 29,20,000 40,00,000
Land & Building 24,00,000 10,80,000
Plant & Machinery 8,00,000 14,80,000
Furniture & Fixtures 16,00,000 10,80,000
Equity Shares in S Ltd. 20,40,000 —
15% Loan to H Ltd. (given on 01.06.2021) o 44,80,000
Current Assets 87,60,000 17,64,000
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.d“i(lnﬂl lll r 1
Ad 1 ll'() Illllliﬂil! (/l.\';'f"ﬂl 9 ’hﬂf (/][? /)f'ﬂ/ﬂﬂ
iV CHEY edarne

faxes)

(a) H Ltd. acquired 1,20,000, Equity Sharcs 16 9
Ltd. on 1.7.2021 when the credit balance of Profit

& Loss Account of S Ltd. was I 7,66,000 and

that of General Reserve on thal datc wis

T 32,18,000.

(b) On 31.8.2021, S Ltd. declared & paid dividend

@ 20% on equity shares for the year 2020-2021.

H Ltd. credited the receipt of all dividends to

its Profit & Loss Account. On 1.11.2021, S Ltd.

issued . 2 shares for every 5 sharcs held, as

bonus shares. No cntry has been passed in the

books of H Ltd. for the receipt of these bonus
shares.

(c) The Land & Building of S Ltd. which stood at

¥ 12,00,00

0 on 1.4.2021, was considered as worth

for which necessary

_The Furniture &

P.T.O.
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Fixtures of S Ltd. which atood at € 12,00,000 on
1.4,2021, was considored us worth of T 4,00,000
on 1.7.2021, for which neceusary ndjustments are

yet to be nade,

(d) H Ltd. and S Ltd. agreed that with elfect (rom

Ist July 2021, for services rendered, 1 Lid. should
charge ¥ 40,000 p.m.but no accounting ¢ffect has
yet been given, During June 2021, goods costing
X 94,000 were destroyed against which the insurer

paid only ¥ 8,000 (o S Ltd.

(e) H Ltd. owed S Ltd. X 12,00,000 for the purchase

of stock from S Ltd. which made at a profit of
20% on cost. H Ltd. sold some of these goods for
3 11,52,000 at a profit of 20% on its cost till
31.03.2022. On 1.1.2022, H Ltd. sold to S Ltd. a
Machine for T 9,60,000 at a loss of 25% ‘on cost.
Depreciation at 10% p.a. was provided by S Ltd.

on this Machine.

Required : Calculate the Minority Interest, Cost
of Control and the Balance of Consolidated P& L



681

Account
to be taken to the Consolidated Balance

Sheet of H Ltd. and its subsidiary, as at 31st March,

2022.

(4+5+6=15)

Rai 31 WY 2022 @1 U9 faReT 3k U9 ffes @ dad

PR I EON 10 % 40,00,000| 28,00,000
s R 24,00,000| 25,62,000
\smer s grf @ 12,40,000 5,22,000
e Riffe & wor (e Aty | 50, 40.000 =
S »9,20,000| °40,00,000
'{ﬁ‘raﬂ'{'qa?f 24,00,000 10, 80,000
I g,00,000( 14,80,000
:Trih'taﬁ-«:ﬁﬁa-{ Zg,_oo,ooo 10,80, 000
;%ﬁmm 20,40,000 =
Ty fifide &y 158 ®|W &

__(01.06.20’21 frfmrmm | 44,80, 000
LWW 37,60,000 17, 64,000

PTG
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wfaRam SR : (W WRA fiy anr q ad aifdfar
T ¥ 3R W W g B )

(%)

v fofRe 3 o it & 120,000 TREd MR @
sftwew fFn ®1 R 172021 @ ow W @
AW - @R & BT Aok T 7,66,000 W A IR
I Ti@ w g Red @ @ie a0 ¥ 32,18,000

<l ATl

feiw 3182021 =, vy ffee A af 2020-2021 @
foro sl IR W 20% @ WA @RI Al sy

: ﬁaﬁrwﬁmiw fRifde A Wl @l @ ik

O | e A R M e et VR
112021 @), o8 RfiRe 4 Q=g AW @ w0 A il
T 5 AW @ Tw 2 MR R e W A Q)
& Wit & e v Wfids @ qEal 3 @ aRRe

nRa T8 & T R

vy fafce @ st sl wiae, Rowran e Rt 14,202

@ 12,00,000 1, W REAEE 17,2021 @ 26,000,000



(%)

(%)

47

WA R i (o, o) o snavae; aavs
W st oo ) By oun fefaze mn adha s
Fimsaiv ) faatai 142021 @1 € 12,00,000 @, fears

172021 &Y gaa earaa ¢ 4,00,000 @1 faa

e o0 stasas s f@a we @0 A
#

va felace st va fafree 3 wenfy =am €0 & A
| WElE 2021 A, AR 7 wE Ama 4 fAv, v s
¥ 40,000 WA W A w5, Afa 3 2w zam
overee ST {315 2021 % R, 294,000
q1 A A A g oA v o a fae
fero damrend] %mﬁfﬁi@—ﬁ@.ﬂa?amoaﬂw
fear

vd fafnde w va fefide & =@ @1 12,00 000 7@
@il A #, fSEd @ W 20% F A9 FEmEn o
fafaee 2 o & o aeA A REE 3103.2022 T
A ARE T 20% TV T 2 01,52,000 ¥ A9 fam
fasier 11,2022 @1, vd fafids 3 w@ Ry « ang

R.T:0..
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W 25% N R T W 1w w0 9,60,000 A W0 A
® TN W W R oot @ A vl W

TERR WH B

RS 1R, 2002 9 Rl R siar oo RS ok
) RS T D g e W N o W
TRy e W, R ) e SR g - sl
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1. (a) How does cost accounting differ from financial
accounting? (5)

(b) Why are cost and financial accounts reconciled?
Explain the reasons for the difference between
costing and financial profit or loss. (10)

OR

(a) What do you mean by Cost Accounting Standards?
Why do we need cost accounting standards?

(5)

(b) The following figures are given :
)
Sales (25,000 units) 65’00’000.
Materials - 25,00,000
Wages 15,00,000
Factory overheads 10,00,000
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Office & Administration overheads
Selling & Distribution overheads

Closing stock of finished goods
(1,200 'unils)

Closing stock of WIP
Goodwill wio

Income Tax paid

5,50,000
3,00.000

2.20.000

1.40,000

- 3,30.000

50.000 .

Cost account manual states that the factory

overheads are to be recovered at 100% of Labour.

Administration overheads at 10% of works cost

and selling & distribution overheads @ < 10 per

unit sold.

Prepare Statement of Reconciliation, Cost Sheet

and Profit & Loss A’c.

(10)
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haS AR 10,00 000
Fraea AR yuET ATy - 5,50,000
fasht ik famwor Aea@za 3,00,000
dar W 0 g weTrE (1,200 FEEA) 2,20,000
SRSl 1 FAAT =ik 1,40,000
e w/io 3,30,000
HEET T I : 50,000

WA @ FgwEd A we T B swan @
sﬂa@@aﬁma‘awo%ma@mm%nzﬁrﬁ
ARE D 10% W e Aaegd AR FR R R
M@z @ % 10 W ghe o= TE

R R



691

e

5

(2) Explam the accounting treatment and control of
()

wastages 10 the cost accounts.

(b) A.8. Lid. produces a product ‘Red’ using two
components X and Y. Each unit of “Red’ requires
0.4 kg of X and 0.6 kg of Y. Weekly production
varies from 350 units 1o 450 units averaging 400
units. Delivery period for both the components 1s
] 10 3 weeks. The economic order quantity for X
1s 600 kg and for Y is 1000 kg. Calculate :

(1) Re-order level of Xo

{11) Maximum level of X;

(1) Mimimum level of Y.{10 Marks)
OR

(a) What 1s idle time? Explain the causes leading to
idle time and its tregtment 1n COSt accounting.

(3)

(b) The following information relates to the personnel
department of a factory for the month of April

2020 -

Number of workers on Aprnil 1, 2020 950
Number of workers on April 30, 2020 1050
PT0,
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Number of workers Who quit {he
factory in April, 2020

10

Number of workers discharged
in April 2020 30

" Number of 'workers engaged in

April 2020 (including 120 op
account of expansion scheme) 140

Calculate the labour turnover rate under the
different methods. (10)

(%) @FE @ A AT IR SR e @ R
GRAT HIFT |

(@) vwe fofids @ weal X 3k Y =1 S =@ v
SR W©' H IART w2 ©OH e T
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(a) Distinguish between allocation and apportionmeny

of overhends. (5)

P16
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() A cost eentre ina faetary furnishes the follow

ing
working conditions ;

Normal working week 40 hours
Number of machines 1§

Number of' weekly loss of

howrs on waintenance ete. 4 hes, per machine
Bstimated annnal overhends ¥ 1,55,520
Estimated direct wages rate X3 per hour

Number of weeks worked
pet year 48

Actual results in respect of a d-week period are ;

Overheads incurred V15,000
Wages incurred X7,000
Machine hours produced 2,200 hrs,

You are required to

(1) Calculate the overhead rate per machine
hour and

(i) Calculate the amount of under or over-
absorption of both wages and overheads.
(10)

srvis wpsiat e i e e et et
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(a) What is Activity Based Costing? How 1Is

9

OR
it

different from traditional method of overhead
(S)

costing?

(b) In a manufacturing unit, overheads werc recovered

at a predetermined rate of ¥ 25 per man-day. The
total factory overhead expenses incurred and the

man-days actually worked were ¥ 41.50 lakh and

T 1.50 lakh days, respectively.

Out of the 40,000 units produced during a period,
30,000 were sold.

On analyzing the reasons, it was found that 60
percent of the unabsorbed overheads were due to
defective planning and the rest were attributable

to increase in overhead costs.

~ How would under/over absorbed overheads be

= . o . l,
treated 1n cost accounts: (10)

(%) S @ smeT IR T F 99 sw S,

(@) vH wRER ¥ vw A S PR e fapg

® W w T B
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4. (a) Distinguish between service “costing and output

costing. | (5)

(b) The following information_has been taken from
the costing records of @ company in respect of 5

job:

P.T.O,
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Materials

pirect
06,000 ¢

“fﬂgCS:

Depurtment A: 60 hours @ ¥ 30 B4
10ur

Dcparlmcnt B: 40 hours @ 220 b6t
our

Department C: 20 hours @ ¥ 50 et
. . ur

Overheads for the three departme
nts are est;
mated

as follows :

Variable Overheads

Department A: ¥ 15,000 for 5,000 hours
Department B: ¥ 30,000 for 1,500 hours
Department C: ¥ 12,000 for 500 hours,

Fixed Overheads: ¥ 50,000 for 10,000 working hours

You are required to calculate the cost of the job
and also calculate the price to be charged so as

to yield a profit of 20% on the selling price.
| (10)

OR

L

Th g infe
¢ following information relates to Process A
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Opening Work in Progress -
1,000 units worth

Units introduced during thé y‘e:fir

Z 10,800

5,000

The following costs were incurred during the year:

Material Cost
Labour Cost

Overheads

Output transferred to next process

Scrapped units

Normal Loss

(sold @ Re. | per unit)

Closing Work in Progress

¥ 89,200

T 41,500 | ’
T 16,600
3,750 units
750

10% of total
input

3,000 units

Degree of | Materials Labour | Overheads
Completion

Opening WIP 40% 20% 20%
Closing WIP 60% 30% 30%

Prepare the Process

of stock valuation.

‘A’ A/c assuming FIFO method

(15)

P.T.O,
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5. (a) Distinguish between job costing and contract
costing. & (5)

(b) Mr. Ahuja runs a tempo service in Delhi. He

furnishes the following particulars of his vehicle

A:

3
Cost of vehicle 25,000
Road License fee per year 750
Supervisor’s salary per year 1,800
Driver’s wages per hour 4
Cost of fuel per liter 1.50
Repair per km 1.50
Garage rent per annum 1,600
Insurance premium per annum . 850 .
Kilometres run per litre 6
Kilometres run during the year 15,000 miles
Estimated life of vehicle 1,00,000 mules

Charge interest @ 10% per annum on the cost of
the vehicle. The vehicle runs 20 kilometres per

hour on an average.

You are required to calculate cost per running

kilometre.

(10)
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OR

A firm undertook a contract for the construction of a

large Shopping complex. The construction W

ork started

on April 1, 2021 and the following data are available

for the year ended March 31, 2022 :

Materials 1ssued to site
Architect cost

Direct wages paid

Materials .returned from site
Tools hire charges

Other indirect cost

Site office costs

Head office expenses (allocated)
Direct expenses

Work certified

Work done but .not yet certified

Progress payments received

Contract price

4
84,00,000
11,20,000
44,80,000

2.80,000
19,60,000
5,60,000
8,00,000
4,20,000
10,09,600
2,24,00,000
1,60,000
1,79,20,000
4,00,00,000

The firm owns a crane with an original cost of ¥ 120
Lakhs. The residual value of this crane after five

years of life is expected to be T20 Lakhs. Strajght

line method of depreciation is used,

R.T.0,
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As on March 31, 2022 the direct wages due and
payable amounted to ¥ 3,20,000 and the cost of
materials estimated to be ¥ 7,20,000.

You are required to:

(1) Prepare the contract account for the year ended
on March 31, 2022,

(1) Show the calculation of profit to be taken to the

profit and loss account of the year.

(i) Show the balance sheet (relevant extracts only)
as on March 31, 2022. (15)

(w) T =t 9 3R ey B q & 99 s SR

(@) f smgen Red ¥ 21N e R ¥ aw ST A
a & e R wge s@ @

T A
qET H A : 25,000
TEH QY Yo W af 750 -
WaeE 1 Ja9 Wi 9w 1,800
IAF N 969 WA HeT 4
Wi et o St A 150
TG Wi 150

W =1 B wiy o 1,600
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WA 9 dm e 850
femriee 2 sfa dw 6
o & A famd ™ 15,000 #H
T F WA AT 1,00,000 A

wed d dm w0, oiFgd @ w @ @A kA
#1901 9e B shwAq 20 fardz ufa 92 @1 TEW
d TR

sve ¥R fERdz 9 awa 1 T @ R
o

vy ¥4 4 va €t WWn weawa ¥ fAEw w1 g@ R

fw o4 1 W, 2021 @ wE g s 3 W, 2022 @
arR wd & fav fafaigs wa? Jvea 2

Ny
wer w1 Wi wed 84 00,000
wIAEH € A 11,2,000
TRy wFEIn W WA 44,8 0,000
we ® 2o of s 280,000
Iewrr RO R 19,6 0.000
e S 5,60 000
T ERIET W WEW 8 00,000
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#e wieg =y (i) 4,20,000
TN Y ' 10,09,6 00
yaifora & 2,24,00,000
foran ran @1 AT 3N T wafvrer s 8 1,60,000
e R g S 1,79,20,000
FAT A 4,00,00,000

TH W U T 120 AR €A @Y el Erre diell Ui hA B
99 A % S o W@ g e W gl yed T 20 @R
T A A IEe R e d) e as aafd e gua
fFzn s 2

31 #2022 HF G AN Y Y w560 T 3,20,000 4
A ardt Y AR 2 7,20,000 P @1 SEHAE SEIAT T @)
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(i) 2178, 2022 ) #woer o @ faw gy e dur
#ifam

(ii) #h % = 7 wif @ & fom Ser aey e o e

Zafs)

(i) 21 wh, 2002 #y feafa & sgar A4 de (Dae
it Zzm) =i
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(a) “The key business of banks js to obtain deposits
from customers and lend the money to public”,
Explain this in context of its functions. (8)

(b) What are the various types of crossing of a cheque.
Give suitable examples to support your answer,
Differentiate general crossing and special crossing.

(7).
OR

~

(a) Write a note on revised guidelines on priority
sector targets for commercial banks? (8)

(b) Highlight major problems of banking sector
identified by Narasimham Committee-I during the
decade of 1990s. (7)

(31) “ﬁaﬂg@mmumaﬁ'%wmmaﬂz
. IUR 38T R T D de iy
HHAFY |
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(w) wfedam AaX o0 oy vt - ura 22 7 vl T
it femdadol we ymy sne farferg 7

(1) 1990 ™ wmw @ A wedaern wfafa- 180 qEar
g Aain eva o)y waenst wOAET el

2 (&) Explain the objectives and featurces of “Insolvency

*

and HBankruptey Code-2016", (8)

(by What do  you understand by the term
wGeeuritization of Standard Assets™? Explain its

fentures and advantages, )

OR

() Exploin the meaning of NPA. How Np

As im
the performance of baunks? (

(8)
(b) Pxplain the eategories of crodiy oy
MM, il
(7).
P.T.o
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3.

(@) W@aﬁwaﬁ‘ﬂa&ﬂ}ﬁﬁaﬁmaﬁmu

(a) Write notes on any two :
(1) E-Payment
(i) IMPS
(i) Internet Banking 8)
(b) “Basel-III is an extension of Basel-II framework”.

In light of the above statement compare Basel-III
With Basel.]. (7)

OR

fferent

(@) What g, mean by Advances, explain the di
' | (8)

formg o advances?
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() Secutily ig 4 critical concern of interne! banking-
What are the different gigndard measures issued
by RBI in order to make internet banking safe

and secure for the customers? (7)

(3t) 8 A W Rod R -
(i) &-spmm
(i) snewdea
(iii) sewve ew
(@) “Jue- 11, JEa-1 2@ o e 27| IR HIAT
2 e N e 11 N gEe dE@a- 1 TR

T
(3) aﬁ?%wmﬁﬁ?,aﬁﬁf%ﬁﬁqﬂaﬁm
HL?

(@) g‘zﬁzaﬁ‘naﬁﬁwﬁmwmm
%@M%mwmmm%
ﬁqwﬁa@ﬂmﬁﬁmmﬁﬁ?mmm
27
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4. Write short notes op (any three) : (5,5,5)

(a) Reinsurance
fb) Co-Insurance
(c) Power of IRDA

(d) Types of Motor insuranée

(e) Lawful Consideration

OR

(a) Re-insurance holds a greater role in the sphere of
insurance. Discuss. (8)

(b) The principle of indemnity is one of the important
doctrines of the insurance contract. Explain.

(7)
(Foedt 1) e R e

(3r) <

(F) “ﬂg-ﬁm_.

(|) IEsmse & wldw
() AR I D wFR
(F) Rt sfwe
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5. (a) Explain the need of IRDA, briefly explain the
objectives of IRDA. (8)

(b) What is Insurance, Explain the principles of
Insurance. (7)

OR
(a) Write notes on:
(i) The doctrine of subrogation

(ii) The doctrine of contribution. .(8)

(b) When the insurance contract becomes enforceable

2w R g8y A T

P.T.0.
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. (a) Why there is a need of computerized accounting

system?

(b) Name the two default accounts created by tally
when a new company is created? Difference

between Credit note and Debit note in tally?
(5r) el e woren @ ST w87

() = w @ Pl @ @ 2 BN Y Y R Rwiee
@ @ AW w7 d ¥ Ak A ik e A A

T AR B

(a) Explain all the types of vouchers with suitable

g8

examples?

(b) How do you creale, Edit and delete of voucher

TYPE?
(31) wm%mﬁaﬁmgﬂﬁwwﬁaﬁﬂwm?
(@) Wmmaﬁ%m?,aﬁrﬁﬁmﬁaﬁ?@ﬁt
M B?
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3. (a) What are the reports available in T2/l gRP 97
g 3alanc€

(b) Explain the procedure for Generalin
tin

sheet and Statement of Profit &L0SS Accoun
Tally ERP9?

() o5 Zamd o ¥ Syw=a KA @ 87
(7) # Sowdt 9 ¥ %@ e v A A A T A
T qAR T F A & ARl e !

(a) Difference between shut a company and delete a

I

company?

(b) Explain about company features and configuration?

() T FT H A7 FA K TE HOA B Refle FwE
& A HAaT FNaAg’

(=) Fqst =1 faemmaAl AR e % @R § T9n’?

How to Create Ledgers in Single or Multiple modes

tn

in Tally ERP 9? Explain Alter, Deletion, Displaying
ledger?
éﬁrém@9ﬁfﬁﬁmmqﬁwﬁeﬁéﬁ%@mm
27 Wﬁmﬁ,ﬁmmﬁﬁﬁ@mﬁmﬁ
e Fg
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6. (a) Differentiate between manual and Computerized
Accounting System?

(b) What are the Components of Computerized
Accounting System?

(37) ATHA 3R FFLCAH AT WO B 9 3 HfoTR?
(F) FFelAHd AT WO D Wewm o 27

7. (a) What are the steps required to create Groups in
Tally ERP 9?

(b) How to Alter, Delete, Displaying the Account
Groups in Single and Multiple modes?

(37) 2o 2IRW 9 F wWE W= & RIU srawds wew =
o7

(T) THA R THIUS AT A @A WE W R =@,
fedhie, feer feman wmem 27

8. (a) What do you understand by installation and
procurement of computerized accounting system?

(b) What are the factors to be considered while source
accounting software?

(3r) wFgedga ol YRR @ IRIE IR @l ¥ sy

HT A B 7
(@) BT SaimT deedl B e fm s R feR
fear s =nfeg ? B,Coh”CP)

(3600)
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(a) Define only in one sentence the following terms :

(1x7=7)

(i) Responsibility Accounting
(i) Profit Centre
(1) Investment Centre
(iv) Transfer Pricing
(v) Divisional Performance_

(vi) Financial measures of Divisional

Performance

(vi) Non-Financial measures of Divisional

Performance




ol A

M Write enldy one bdayie difference between

Controtlable Costs and [_)Iw‘mtrn“nhlc Costs.

(1)
() Write a short note on Control Ratios. (4)

(d) Last three methods of Disposition of Variances.

(1x3=3)

OR ALTERNATIVE QUESTION

(2) OM Ltd. manufactures two products X and Y.
Product X requires 3 hours to produce while 5
units of product Y can be produced in one hour.
In July 6000 units of X and 30,000 units of
Y were produced. Activfty Ratio is 93.75%
of Capacity Ratio and Capacity Ratio is 102.4%
of Efficiency Ratio. Calculate Idle Capacity
Ratio. (7

(b) List the four methods of divisional performance
and explain any one of them with the help of an

example, (I+1+1+1+2=6)

(¢) List the Different Responsibility Centres and

explain any one of them. (1+1=2)

BELOk
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I Y A 5 TR gy geqrast g v N e G
qar B o N X w) 6000 gwgA st Y Al
30,000 AN @ Jeqrgsy faar wan wfafafn s
BRI U W 93.75% ¥ IR ewren S FEAAT

FUE T 102.4% B fAfkra ewEr sad @ A9
Tyl

(&) wnﬁaﬁmmaﬁwﬁtﬁu‘fﬁqﬁw IR I
I FR v N vE IJgew S GeEE ¥ GHA

(1) e Soefde @9 @ o Y AR 39 ¥ 5
Qe & ARl HIog

2. AATMA Ltd. provides you the following information :

(i) Material and Labour requirements

Direct Material @ ¥ 10 per unit 1.9 Units
Direct Labour @ % 10 per hour 2.4 Hours
Material Wastage Rate 5%
Expected increase in labour productivity 25%

(ii) Overheads and Sales at 80% and 60% Capacity

P.T,O.
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 Production Overheads (including 10.448 9.836
deprociatan) (Y)

| Depreciation on Production Machinery (¥) 0.8 0.8
Adnmunistrative Overheads (Y) 7.68 736
Selling & Distribution Overheads (%) | 7.6 7
Sales @ V400 per unit 64 48

Required: Prepare Flexible Budget at 50% and 0%
capacity. . . (15)

OR ALTERNATIVE QUESTION

" Calculate all the labour cost variances from
the following information provided by PARMATMA
Lid.

T20
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7

I a normal working week of 40 hours, the gang 1s

expected to produce 108 ky of output:

Actual data relating to finished goods and work-in-

Progress:

Work-in-progress 5kg 10 kg
[Matenals fully [Matenals fully
suppliedbut 40% suppliedbut 80%
converted) converted)
Finished Goods 20 kg 10 kg

Actual sales of Finished Goods: ¥47,000@ Y500 per kg

(13)

AATMA Rifts s Refofas STHER yom ot 2

(i) aFEl 3R S NE™HAR

yeE el @ 10 ¥ oW gfe 19 gRTE
TE W @ 10 ¥ WR wer 24 W
it s 5%
s JeEdl A snfew gfa 25%

-

P.T.O.
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: | capacity Capac:.tY‘
e IO (IR Aed) 10.448 536
(FTE |
eTe Wil O TR (9 §) 0.8 0.8
ST IYTvsaq (F99 7 68 7.36
Rt st Reww seftsrs (=9 ) 7.6 ;.
RdT e 2 400 wR TR 64 48

o1 Awfeqes wsA

PARMATMA & g1 W= &1 ¢ R=fafaa s )
a1 s wE A @ e i

LRSS 48
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R W SR A B @ e Y e

TR BY R A 5 far 10 T '
Tt O g & | (At e

S i T AfEhe | sy i e e
- |40% wRafda)  |80% wfafda)

AT "I I, 20 fFar 10 fBFerr
AT HTe Y areafass @6 47, 000 m?r@ ¥ 500 ®9 yfa BFar

3. (a) Define only in one sentence the following terms :
_ - (1x5=5)
(1) Sunk Cost ‘ |

(i) Committed Cost
(iii) Opportunity Cost
(iv) Differential Cost

(v) Discretionary Costs

(b) List the two basic characteristics of Relevant

Costs. | : s - A

(c) PRITHVI Ltd. manufactures a product, currently

.utilising'SO% cépacity with a turnover of

PiT:0,
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% 36,00,000 at ¥ 200 per unit and its P/V Ratio is
40%. The cost data is as under :

SEESE o
60

Direct Matenal per unit

Direct Wages per unit 40

Varisble Overheads per umit -

Semi-Variable Overhesds (which will mcrease by T 45,600 192,000
for every 18% increase 10 Capacity or any par thereof)

Fixed Oyerhesds 4.80,000

Required :

(1) Calculate the Total Fixed Cost at 50%

capacity level.

(ii) Calculate the Number of units to be sold

to earn profit of ¥ 56 per unit.

(1) Calculate the Selling Price per unit to earn
a profit of 25% on capital employed at
80% activity level. The fixed portion of
capital employed is ¥ 107,71,200 and the
Working Capital portion is 20% of Sales.

(2+2+4=8)




69

1

OR ALTERNATIVE QUESTION

(a) Write only one basic difference between cach

(2v1=4)

of the following : (4
(1) Product Cost and Period Cost

(1) Variable Costing and Absorption Costing.

(b) Define only in one sentence the following

terms (1x7=7)

(i) Cash Break Even Point

(i) Cost Indifference Point
(ni) Key Factor

(iv) Angle of Incidence

(v) Margin of safety

(vi) Composite break-even point

(vii) Budget Manual

P.T.O.
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(c) Calculate Break-EVen—Poim for a train journey
between Delhi and Jaipur where cost of an Engine
_is 1,60,000 and of Bogie is 7 32,000 Capacity
of a bogie is 70 passengers and each ticket is
priced at ¥ 1,200. Variable Cost per ticket is
Z 200. | (4)
(%) ﬁﬁ%ﬁaﬁmﬁaﬁﬁaﬁ@w#qﬁw&aaﬂm:
() w ww
(i) wideg @
(iii) R RIS
(iv) faves wmm
(v) fRereds ang
(@) mﬁaama‘fﬁ‘é’rgﬁu@ﬁﬁumﬁaﬁﬁﬁm

(1) 3 s v e @ e w2, o
¥ 50% emar W gqan @ @ 2, ReE o

¥ 36,000,000 TiY gfe 8 3R ga WAt g 40%
%'méﬂ%m%: _ |

B it
. lh,‘_‘g,‘ at



Wi S e W
Wi iR wanr weigh i
T e e T

et - RER SuRenr (9w g Rafy o

} w@w 18% gy 44, 600 Hr gla gl

1,582,000

4,680,000

T HEAT B

(i) 50% BT R T e REE AR I
EAIE N

(ii) T56 WA gic W Ww IR W w fae
F W A TR W G W
Fifom)

(i) 80%}@13’&1'@?‘1‘{%@“ 25%
v SR Y @ R aR afe B s
e @R Fakm e W Rt T
107,7i,2oo 2 R wEfie go W fasht W
20% B
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(1) e SR SR At 37y - forg e - -
W IO WY R v v @) mmr 2 1,60,000
B R AN R A 232,000 #1 v A A
70 A R R K R R i w1200 T
2 W R wReda s 7200 2

4. JAL Ltd. can produce three different products from
the same raw material using the same production

facilities. The relevant details are as follows :

Particulars X Y zZ
Maximum Market Demand (units) 6000 4000 3000
Selling Price per unit (%) ‘ 2501 200 400
Raw-Material as % of Sales Value 80% 60% 75%
Lai:our Cost per unif 4] 24 40 32

LR

Overhead Rate is ¥ 10 per hour of whiph 60% is
fixed. Maximum Raw Material available 1,00,000 kg .

@ % 20 per kg. Maximum Production Labour hours
available 18,400 @ T 16 per hour.

P.T.0O.
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Required: Find out the Product Mix to yield maximum

profit and determine the Profit at the selected producy

Mix. (15)
OR ALTERNATIVE QUESTION

AGNI Ltd at Ipresent manufactures component ‘X’
one unit of which is required for each unit of Product
‘A’. The budgeted output of Product ‘A’ are 1,20,000
units. The cost details for 10,000 units of component

‘X’ are as under:

Direct materials < 48,000
Direct labour @ ¥ 10 per hour < 60,000
Variable overheads < 36,000 =
Fixed overheads < 36,000
Total < 1,80,000

The component ‘X’ however is available for purchase
at the market at ¥ 16 0 each. In the event of the
Company deciding to purchase the component ‘X’ from

market, the Company has two alternatives for the use

of the capacity so released as under.

N e — o T




—

T3 37

ent o -

(b) Manufacture componey, 'Y which can be sold af

b . 4 g
V1600 per unit, The cost data of this component

for 10,000 units are

Direct materials T 60,000
Direct labour @ ¥ 10 per hour ¥ 30,000
Factory variable overheads ¥ 18,000
Other variable overheads X 42,000
Total 2 1,50,000

Required :

(i) Make an appraisal of proposal to
manufacture component ‘X' and state
whether the component ‘X’ should
be manufactured in the factory or
purchased from the market. Assume that
no alternative use of spare capacity is

available.

(ii) Evaluate the alternative use of the spare

capacity and state whether to manufacture

P.T.O,
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or buy the compeonent ‘X’ and if your
decision is to buyv the component "X . which

of the ™wo alternatives for the use of spare

capacity will you prefer? (7+8=15)

wa fRcE W& & SN gRuSt =1 39 o1 i 8
F= WG ¥ A I - S INE ST INET T 949 2

TEHUT (ST W TSR B

[

ECE&L| .\' I- z

— -

HIETAH 19T 7197 ([ THTTSL) €000 £000 3000
- - - -,

Eﬁ?,ﬂ?..‘rq'r'ﬂ-n'ﬁ'ﬂ =95 =) 500 00 800

Rt T T s — .

TN T % SIS T A §0% 60% 75%

- - N

T3 = 5% s FYY H) 48 §0 Y-

sﬁaﬁe%aloﬁw%aa%ﬁfﬁéao%@t%l SIB
S 1,00,000 fFERW @ 20 W TR e w@
ST R @ 16 TR W Ve &% w 18,400 Ffreas
ST 59 9 Iumey

2l g




19
Waa?f%qa;m

i o T ¥ wew 7 o R et 2, TR
T T IR A’ TRE s 3 fg FEwd 2l Ie
‘A’ F AT IE 120,000 THE B TEF X il
10,000 SHEA & Ty W fawr FeER € -

T ATHAT . .% 48,000
yere 5w @ ¥ 10 ¥ Her % 60,000
qﬁaﬁ#wﬁﬂw 7 36,000
- Ry ST T 36,000
I j %1,80,000

G, v ‘X WA 1600 TR F Ao F W % e

e 2| ﬂﬁ_-mm%m‘x’ﬁﬂﬁwﬁvﬁﬁ%
ﬁﬁaﬁﬁ,ﬁqﬁ%mm%m%ﬁwﬁﬁm

%,ﬁrgﬁwﬁﬁ'ﬂﬂé%‘

(%) o e W 2 T WA H AW ¥
' T 3l

P.T.O.
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(w) RfE wew @ B 16,00 vyl gfte o o d A
S qEA B1 10,000 YAl @ Ry ww wew @ @

W W WER B
T T ? 60,000
TR AW @ ¥ 10 Wi wer ? 30,000
Feedl & wRadH1T Sufiery ¥ 18,000
T IREdT Iufey % 42,000
o | ¥ 1,50,000
AT FET B

(i) we= ‘X’.%IW%WWW
FifoIe 3k Targe far o wew ‘X’ @ fafEfr
et ¥ far W AT @ A ¥
WA WY A AR R sfRe ewar @
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(ii) sfoRew eomr & Isfors I &1 Teaiee
FIfoe 3R wegy & =0 wew ‘X @ faftor
F B g @len R R} e fFAva wew
‘X' @ @iex @ 2, @ A AREd awar B
I B R @ Reed ¥ ¥ PA-w RBEw
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(a) Write only one bagj, difference between each

of the following : (2x5=10)

(1) Cost Accounting and Management

Accounting

(ii) Financial Accounting and Management

Accounting
(iii) Cost Control and Cost Reduction

(iv) Direct Cost and Variable Cost

(v) Standard Cost and Estimated Cost

(b) Average of Actual Wage Rate per hour and
Standard Wage Rate perT hour is ¥ 45, Difference
between the Actual Wage Rate per hour and

Standard Wage Rate per hour is ¥ 10, Average

of Standard Hours required for actual output

and Actual Hours is 52 hour, Labour Cost

Variance is 7 200 (Favourable). Calculate

the Labour Wage Rate Variance and Labour

Efficiency Variaflce- . - (5)

R.T.0:
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OR ALTERNATIVE QUESTION

(a) Briefly explain meaning, objectives, nature and

scope of management accounting. (7)

(b) Write only one basic difference between each

of the fOllO'WiIlg : (23\4:'8)
(i) Standard Costing and Budgetary Control

(ii) Zero based Budgeting and Traditional

Budgeting
(iii) Fixed Budget and Flexible Budget

(iv) Programme Budgeting and Performance

Budgeting

(=) frafafag ¥ ¥ TS @ 99 99d US gHaE AR
forfae - |

(i) e SREiET SN FEEE S
(i) i e AR FEET oEE

(i) re FraFor sk aFE A S
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Name of the Course

Semester

Financial _Markcls and
Institutions

B.Com. P.
VI

Duration : 3 Hours Maximum Marks : 75
Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions in all.

3. All questions carry equal marks.

4. Answers may be written either in English or Hi~2"
but the same medium should be used throughout the
paper.
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for capita kets and insurance
segment I‘especuv‘:;i;n Lndla Explain in the light of
various meas:ures - Oy SEBI in the recent past
for investors protection.

OR

«Financial markets, financia] institutions and financial

instruments are ’}he 1mportant Components of any
financial system.” Explain,

I IR FEARET RE F T TR wom, wRRA aer
i A & F e A Fewwh v woRar ¥ 1 Faw
&t e & Ry T B R ¥ ¥ gw fre v Rt sa@
& AAE A ARAT Y |

q1

“focig e, facig dee 3k facig wem Rl % R
YOTelt & WETIYUl e © |7 |Hesy |

2. (a) Certificate of Deposits and Commercial Papers
are different types of money market instruments.
Elaborate on their benefits and also explain how
Certificate of deposits differ from the Commercial
papers.

(b) What is meant by SENSEX and NIFTY. How
these indices act as a barometer of the Indian
€conomy? .

OR

(c) What does the term “depositories” mean? What
are the various services provided by the them?

(d) What are the various components of the capital
market? Explain why an efficient capital market
IS necessary for the overall development of an
economy.
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('S ]

3

AT R Sﬂ‘( %!ﬁ uyg falsy=r wenn U LEL A
| T & qy ¥ famw A adw A A

%“ﬁ - -
T S Sy o 3 @ B A

(%)

(1) “ﬁﬁﬁiﬁ”mwwm%?aﬁmmaﬁ
ST Al R Y o g7
(9) TN IR & RS woo T & 7 e SR &

What was the reason to introduce Insolvency and

Bankruptcy code? Highlight its main objectives and
explain the main steps involved in the insolvency

resolution process.
OR

Explain various functions performed by a Commercial
bank. Also highlight various challenges being faced

by the Indian banking system along with the recent
developments that have taken place in the banking

sector of the country.

P.T.O:
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4

~ R Ty g O PT
st A el @ e gy arell fafiysy geifaay a7 o
wera oY |

what are the different Calegories of NBFCsg rcgiqlcrcd

with RBI? Is it necessary that every N i
registered with RBI? y NBFC should

OR
What do you mean by NAV? Why mutual funds are

becoming more popular investment route for Indian
investors today?

IS & W IO CHRINHE =5 ey Sfrar @ & 7

N TE A ¢ TR e @ amdlers @ @y
gaired fevan wg 7

K214
T W T N WA B 7 T Y Be AW WRAd
frawesl & fog fter e few ey s @ 27

Write short notes on any three of the following :

(a) Role of Merchant Bankers in post-issue
management

(b) Need and impBrtapce of Venture Capital Finance
(c) Types of Financial Services in India

(d) Endowment Plan Vs Term Plan
Wﬁ%%ﬁ%wmww:
%) e - g e A wEC dEd R

a) ¥R e wEd W EEEA AR TS
(1) wwa ¥ fadg A B TER

(7) weic i gm < @

(
(

5
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

1o

Attempt any FIVE questions. .

3. All the parts of a question should be ntfempted
together.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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2. T8 oft Ot WAl & 3wk AR
3. wm%ﬂﬁwﬂaﬁwmmaﬂﬁmmﬁm'

4. THWTA- T I S a1 B o v s A Afvrg, AfRT
T IR T ALLH T B BT ARG |

1. (a) “The enemies of advertising are the enemies of

freedom” — David Oglivy. Comment.

(b) What is an advertising budget? Discuss any three

important methods of setting the advertising

budget.

OR
(a) Explain the DAGMAR Model.

(b) Differentiate between

(i) Primary Demand Vs. Selective Demand

Advertising

(i) Consumer Advertising vs. Industrial

Advertising
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(F) T & goe wdaw & gEe 87 - T Afad
Rt <5

(') R Twie T e 22 s awe AuiRa s @
= O ol (g & =i ke

i)
(%) DAGMAR ¥isd & SraAm hifog|
() F=fofee & 9 s Fifkm
(i) vrafEs W T=w SgaeTE W e
(i) SiEw e 9@ stfe R

(a) What do you understand by an Advertising Copy?

Describe the essentials of a good radio advertising

copy.
(b) Write notes on any two:
(1) Internet Advprtising |
(ii) Newspaper Advertising

(iii) Advertising in Magazines
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OR

(4) Define Media Scheduling, What are the various
media scheduling patterns available to an
advertiser?

(b) Explain the various factars affecting selection of
media,
() faanast utd 4 a5 qwai ¥7 vm o) G faar
uft oy b wn aley A
(1) faeti A we feoph tofey .
(i) weeie famas
(i) #aran a1 s
(iii) ufamA % T
ar

(%) Hfem teyfein 5 dfoafa Ao famaze 7 for
e Pt dfen deyfen Gk am #7

(m) Afem 2 wger 7Y wotan w7 1A ffest ey o
wrey Ao
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3. (a) What is a full-service advertising agency? What

are the functions performed by such type of
advertising agencies?

(b) What are the objectives of measuring advertising
effectiveness?

OR

(a) Explain the pretesting techniques of measuring

sales effects of advertising effectiveness.

(b) What is meant by advertising media? Discuss the

advantages and drawbacks of outdoor advertising.

(%) wo-afda famme ol @0 Bd 87 T WER W
famTa T wr- 1 HE w87

(@) RSO FSEdeET St WY @ I w1 87
at

() ﬁamm@am%ﬁﬁama“faﬁm%aﬁf—qﬂm
Tl @ AR il

(|) frsae ARar & =@ 3 27 FSesR fmE @ wee
I gEEm i T i

P.TNO:
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4. (a) Advertising and Personal Selling are two competing

methods of promotion. Comment.

(b) The objective of personal selling is not to close @

sale but build long term relationships. Elaborate.

OR

(a) What qualities are expected to be possessed to

become a successful salesperson?

(b) Discuss any five measures to make selling an

attractive career.

(%) ﬁsfmaﬁzmﬁaﬂaﬁﬁw%auﬁwﬁaﬁ%%
et Fifsm

(a).wﬁmmﬁa?raﬂa%mﬁqﬁﬁﬁmrmﬁﬁ%
ek Ao ey wET 21 RER ¥ TR

qr1
(F) v wher fa a9 & fw S-3 1 B iRy

(@ )ﬁaﬁﬁmﬁmmﬁmwﬁ%ﬁvﬁﬁﬁmm
Wﬂ'ﬂfﬂﬁﬁ?ﬂ{l
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%

() What ypes of objections do customers generally

raise in personal selling”

(b) Explain the various methods that can be adopted
by a salesperson in the “Approach™ stage of
personal selling process.

OR

(a) What 1s prospecting? Explain the methods of

identifying the prospects in personal selling.

{b) Is 1t worth spending money on Customer follow-

up after the sale has been closed? Discuss.
(7)) =fewm faf 3w smar © 5 gar 91 e
JoH B

(@) =fFm fad afma @ ‘s’ oo ¥ o faga
gW FUAE W dFA ae fabvesr Rt & =men
AT

a1

() o @ # 7 a@ladnd 9l A gdev @) geam aw
& 90w 41 wren 9ifiw)
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Attempt any three of the following : (3x5=15)
(a) Audience Selection

(b) Humourous Copy

{c) Importance of Layout

(d) Buying Motives

(e) Customer Follow-up

() AIDAS Model of Personal Selling
feafafaa ¥ @ &= <= w3 %-W S -
(=) =3t =1 =TT

(=) s==aE =

(F71) AT w1 TAEA

(a) S HA WIONW

(¥) =W wial— A9

=) = et =1 AIDAS sites
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